

THE PUBLIC SCHOOLS, 1948

By E. M. WELLINGS

Only through rose-coloured glasses of double strength is it possible to see the 1948 Public Schools cricket season in a pleasing light. The bald truth is that it was a sad failure. The expectation that Schools cricket would improve steadily when the end of the war released the young cricketing members of the staffs has not been borne out. In the third year of peace the standard was lower than ever, and the season culminated in the utter rout of the repre-

sentative Schools team at Lord's.

Anybody going to Lord's for the Public Schools fortnight in search of young hopes to help England back to the top place in international cricket in the years to come could only reach the conclusion that there was little help indeed to be expected from the Schools. Having fled from the misery of the Leeds Test, in which England did almost everything it was possible to do wrong on the final day, I was among those who sought sanctuary at Lord's, only to find that the misery there was akin to that at Headingley.

My first essay was the Rugby and Marlborough match, in which the bowling generally was weak and the batting too dismally timid for words. Seemingly, nobody had any ideas at all about the correct treatment of a half-volley. My memory of this contest is of two sides, who revealed less knowledge of cricket than any Public School team should possess, doing their best to give the match to their opponents. In this respect Rugby were the more adept, and Marlborough became apparently reluctant winners.

Those who had seen the previous game, that between Clifton and Tonbridge, assured us that it had been just as bad except that the fielding was really excellent. In a bad year it is necessary to be thankful for small mercies, though normally good fielding by a School side would be taken as a matter of course. It would be charitable to regard these four Schools as having struck their worst days at Lord's and to think that they were capable of something better. That is not an unreasonable assumption when discussing a season in which the form of nearly every School side was amazingly variable.

The third game was altogether more encouraging. Where the batsmen of the previous four visiting schools had been timorous and hesitant, the Cheltonians from the outset showed a correct and extremely welcome attitude towards the game. The batting of J. Lister and R. T. Procter was distinguished by excellent stroke play and willing, indeed eager, aggression. They were followed by a gay adventurer, J. F. Tucker, whose love of thumping a half-

volley was very pleasant to watch. And what did it matter if he often elected to clout the off-side half-volley to the boundary at mid-wicket? It was refreshing indeed to watch a young cricketer with such confidence in his own powers of aggression. Nor was enjoyment of the spectacle reduced by the knowledge that the Hailevbury bowling was generally very moderate. Tucker has the spirit which should be the possession of all young cricketers. It is greatly to be hoped that no misguided helper will preach discretion to one still so young that he was due to remain at school for another cricket season. A player learns on his own to combine discretion and aggression, but the spirit of batting adventure once lost is not easily regained.

Haileybury could have been excused if overawed by the frenzied scoring of their opponents, but, in spite of making a very bad start to their innings, they answered the challenge splendidly J. C. B. Letts, the latest from a family which has in recent years almost turned this annual fixture into Cheltenham v. Letts, hit a hundred in the same lusty fashion as Tucker did, and against a side relying overmuch on two or three bowlers Haileybury proceeded without further threat to a draw. So the first week, which led up to the representative games, ended well enough even if the

beginning and middle had been bad.

The first representative game, in which The Rest had the better of what play there was against the Southern Schools, was wrecked by rain. There was, however, time for a few boys to do their reputations some good, notably Lister. While scoring 75 for The Rest he again showed faith in his attacking strokes and unwillingness to allow any bad ball to escape. His off-side strokes were excellent, and on the form at Lord's I should say that only M. J. D. Bower of Radley was a better Public School batsman in 1948.

J. A. Tobin batted long enough to show reason for his heavy scoring for Wrekin, and B. E. Disbury of Bedford looked a player thoroughly competent to deal with schoolboy bowling. On the other side M. H. Bushby, a small, neat batsman from Dulwich, shaped well in a mainly defensive fashion. He gave the impression of having the knowledge of but not yet the power for attacking strokes. I. P. E. Gav. whose doings at Winchester indicated him as one of the leading batsmen of the School year, failed in this game and the subsequent one against Combined Services.

On the whole the bowlers were perhaps flattered during Southern Schools v. The Rest match. Several were successful, but there was a surprising lack of variety and little spin bowling worth considering. Yet the best-looking bowler of the lot was a spinner, D. H. K. Rata of Highgate. A slow left-hander with a good action, he used genuine wrist and finger spin in turning the ball from leg and gave the ball plenty of air. In a long bowl for Southern Schools he consistently kept an attacking length, mixed his flight, and was not worried by Lister's hitting. He looked far and away the most

promising bowler in this game

There were two other spinners, W. M. Mitchell of Dulwich. whose control of leg-breaks was not sufficient to put him into the representative side, and Bower, who probably does not rate his future prospects as an off-spinner highly, even though he did take forty wickets for Radley. The other bowlers on view were all of the medium and quick-medium variety. The quickest was T. A. Hall of Uppingham—a lively, determined, left-arm bowler with a well-balanced run but faulty delivery. To make the most of his talent he must learn to avoid bringing down his back foot, in his case the left, pointing down the wicket, accompanied inevitably by premature turn of the body. At his age it should be no very difficult coaching job to get him square to the wicket for the delivery. M. T. Robinson, of Shrewsbury, who is an old campaigner in these games at Lord's, seemed no better than last year, and I see no likelihood of him improving materially with his present style. More likely to my way of thinking was D. C. Dickinson of Clifton, a medium-pace bowler who was rather unlucky not to be chosen for the match against Combined Services.

In one respect the selection of the representative side had my whole-hearted support. That was the omission of D. R. Peppiatt, although he started the trial match for Southern Schools by dismissing Bower and Proctor without any loss of time. Ordinarily those successes by an opening bowler in a single innings game would have ensured selection, for Peppiatt had taken 45 wickets for Winchester, a School meeting strong opposition, for 11.28 runs each. But Peppiatt is a youngster in whose person are combined all the modern bowling faults. Since the l.b.w. law was changed to bring the off-side into play the tendency has been for more and more bowlers to adopt the in-swinger. The popular method of bowling that ball is to break all the accepted canons of bowling by presenting a full view of the trundler's chest to the batsman and to swing the arm without any accompanying body swing. Peppiatt is the most extreme example of this that I have encountered. It is to be hoped that the decision of the selectors in overlooking him will have an effect in persuading others in the

Schools not to follow his downward lead.

Unfortunately the in-swing bowler has considerable success against average batsmen, but the many modern bowlers who have it as their sole weapon fare very badly against the batsman of real class. And that is one reason why we are now experiencing such difficulty in finding an attack competent to tackle Australian Test batsmen. In-swing has its part in cricket, but not as practised by the majority to-day. It is significant that in-swing played no part in the main Australian attack of Lindwall, Miller and Johnston.

For the match against Combined Services the Schools were strengthened by Ian Bedford, who because of his noteworthy Middlesex successes was excused the trial game. Though Bedford (Woodhouse Grammar School) did not bowl his spinners so well in 1948 as in 1947—a temporary check to his rapid development being not unexpected—his four wickets for 64 represented the only performance by a boy worthy of note in this match. In other respects the form of the boys against adult opposition clearly emphasised how weak Schools cricket was in 1948.

There might have been another satisfactory performance, for Bower was needlessly run out when 26 in the first innings and looked good for many more runs. In this innings he at least did enough to suggest that he was probably the best School batsman of the year. There was more polish about his batting than that of Lister, who unfortunately failed completely in this match, like Gay and Tobin. Only two other boys reached 20, Bushby and Disbury. The second innings produced only 53, of which extras brought 16, and as though to emphasise that there was not much class batting in the team the main damage was done by an inswing bowler!

With the form of most of the leading Schools so variable, discussion about the best team of the year would be unprofitable. A few could look back on the season with some satisfaction, most notably perhaps Winchester. Others could not, and they included Eton, who went through a second moderate season in succession. When Eton, the largest School with generally the strongest combination of cricketers, are below par, the strength of the representative side inevitably drops. In 1948 only one Eton player appeared in the representative games—C. E. A. Hambro, their wicket-keeper, who was chosen against the Services in preference to W. R. Mason of Rugby, but it must have been a difficult decision.

If the season for Schools generally was gloomy, one man has every reason to look back on it with great satisfaction. He is Jim Hammond, the former Sussex all-rounder. As a County player he was unlucky, for he very narrowly missed playing a large part in the game. In 1948 he became a School coach at Cheltenham, and it looks as though the success which eluded him as a player will now be his as a coach. He took over a School whose cricket had been in a steep decline since Arthur Fagg returned to Kent and was in the depths. Hammond stopped the rot and produced a side which with one more good bowler would have been really formidable. He got two of his pupils into the Southern Schools v. The Rest match, Lister and Proctor, and had two more strong candidates, Tucker and J. D. F. Alexander, who was quite as good as any bowler who used a new ball in that trial match. More pleasing than any playing achievements were the methods

employed in gaining such reward. Here, it seems, is at last a School coach who encourages his pupils to be aggressive, one who is not obsessed by the importance of teaching an elegant forward stroke. If we can judge by what Tucker showed at Lord's, Hammond does not teach cricket by rule of thumb, but encourages and develops natural talent in a youngster, guiding rather than drilling him, and allowing him to be unorthodox if he has the gift of making morthodoxy pay.

That brings me to what is becoming an annual plea for more imaginative coaching on the part of most other coaches. This year it is a plea for them to consider the Jim Hammond method, which is more likely to bring along a Denis Compton than strict adherence to stereotyped methods. As I said last year, "The present methods (of coaching) turn out too many players who look pretty in a net but whose deficiencies and limitations when faced with the realities of the middle are all too obvious."

Schoolmasters still tell me that, as a result of war-time neglect, the standard of cricket among boys arriving from Preparatory Schools is low, and that at Public Schools the coaches are accordingly handicapped. That excuse is not valid. Boys are at their Public Schools during their most formative years, and the effects of previous neglect should be speedily countered if the coaching is good. It is, for instance, unbelievable that the fault in T. A. Hall's delivery could not easily be corrected at his pliable age; still more that M. T. Robinson should continue on the wrong tracks.

I have seen what good coaching by A. R. Gover can do to bowlers who start with faults too bad for me to be impressed by the excuses of the cricket masters. The bald truth is that Public School cricket generally is very much worse than it should be, and there will not be the desired upward move until the old moth-eaten coaching methods are revised. Bowlers should be taught a correct position from which to bowl before they are encouraged to flirt with the frills of bowling in the form of swing and spin. The first thing batsmen should be taught is that bowlers bowl only as well as they are allowed to bowl. In other words, let them be bold. And surely even our dear old pal the forward defensive stroke cannot be taught in exactly the same way to the round, tubby little fellow as to the long, stringy one. The correct teaching should aim at getting the individual into his best position for hitting the ball, and that position must vary according to physique.

Lastly, a word about the organisation of the matches at Lord's. I have previously suggested more games between representative teams of boys at the expense of the inter-School matches. My present suggestion is that different opposition should be found for the final Public Schools team. On a big occasion an adult side starts with a considerable moral advantage. Lord's does not worry

them. This year's Services side would surely not have won so very easily on any other ground. It was a strong side, but not unduly so against the pick of the Public Schools. It contained only one bowler, J. H. G. Deighton, who would be expected to present a particularly awkward problem to the best Schools batsmen. Yet the match was hopelessly one-sided.

My belief is that an eleven could be found from boys of similar age who do not go to Public Schools capable of tackling this representative eleven with every chance of winning. I shall know more about that next year. Meanwhile, I have seen many young London cricketers previously without any sort of coaching. Now the pick of them are to have their chance of the right sort of coaching, and in a short time I believe that from London alone it will be possible to choose a side capable of something better than we saw from the Public Schools team in 1948. Opposition of that sort is more desirable than that furnished by a Services team, for it would surely stimulate the Schools to greater efforts. And, by Jove, a stimulus certainly is needed.

THE SCHOOLS

(Scottish Schools will be found at the end of this section.)

Aldenham School, with a very young side, fared moderately, but G. C. Pennington was an all-rounder of distinct promise. A left-handed batsman and right-arm bowler, Pennington played gracefully and should improve rapidly as his strength increases. Best service in attack was given by the captain, A. S. Heywood-lones, and Pennington, while strong support came from R. H. M. Arkell, a tall left-arm slow bowler.

Although possessing only two old colours, Alleyn's School fared well, thanks largely to the consistent batting of M. J. Stewart, a right-hander with a number of attractive strokes, who rescued the side on more than one occasion and appeared for Young Amateurs of Surrey during the summer. J. F. Pretlove gave promise of developing into an aggressive left-hander, but lack of confidence was marked among the remaining batsmen. Pretlove bowled left-arm slows intelligently and, with Stewart, formed an effective attack.

Most credit for another satisfactory season at Allhallows School must go to the captain, M. Ray Hills, for only he and K. G. Hutchings, a patient defender, revealed batting ability above the ordinary. Required to open the innings instead of batting in his customary lower position, Ray Hills adapted his style admirably and played several invaluable innings. The middle batting suffered from lack of concentration. S. J. Harvey, D. J. Fulton and W. T. M. Luff bowled steadily and might have accomplished more but for occasional lapses in the field.

Rain interfered seriously with the fixture list at Ampleforth College, who played only seven matches. Of these two were lost by narrow margins and four drawn. The captain, G. A. Robertson, an aggressive batsman and a useful stock bowler, was again the most successful all-rounder. M. Tate revealed great promise as a bowler, taking eighteen wickets in 47 overs.

The Beaumont College return of four victories, six defeats and five draws makes only moderate reading, but the eleven improved steadily and rounded off the season with a convincing win over Oratory at Lord's. M. B. Sheridan was the most successful member of the side, his batting and wicket-keeping being equally reliable. The captain, B. P. Dillon, enjoyed consistent success as a bowler, but not until the last few matches did he display his true run-

getting ability. The fielding was particularly smart, with Dillon and C. Ennis often brilliant.

The chief feature of a powerful Bedford School side was wealth of all-rounders. The best of these was again the captain, B. E. Disbury, who headed both sets of averages. A reliable left-hand bat who possessed great powers of concentration, Disbury was selected for Public Schools at Lord's and also appeared for Bedfordshire. After a shaky start, G. D. Moulton ran into form and scored the only century for the school, and F. A. Puignet batted consistently. P. A. Mounfield and J. W. Fry made full use of the new ball and were well supported in the field; J. A. Spooner did most damage with slow off-breaks.

Admirably captained by J. H. Bramwell, Bedford Modern School undoubtedly had their best eleven for many years. Undefeated, they won six and were favourably placed in the remaining three matches. Chief credit must go to the batsmen, particularly R. E. G. Jeeps, a Colt, who returned an average of over 100, being not out five times in eight innings. Bramwell and P. G. Miller usually laid the foundation of a big score, and if they failed other batsmen rose to the occasion. The out-cricket, though not so consistent, was adequate; Miller (fast-medium) and D. De Villiers (left-arm medium) each claimed over twenty wickets at under ten runs apiece.

Berkhamsted School, handicapped by the loss through injury of R. D. Davis, a sound opening bat, when the side showed every indication of developing into a formidable combination, nevertheless did well in School matches. Bishop's Stortford, U.C.S., and K.C.S. Wimbledon were defeated and Aldenham and Mill Hill were struggling when stumps were drawn. The strength of the side lay in the attack, with D. H. Mills (fast-medium) especially prominent. J. Barrett led the side with distinction in the field and achieved a fair amount of success with left-hand bowling. D. F. M. Pringle was easily the best batsman.

Lack of adequate coaching during the War was noticeable in the batting at Bishop's Stortford College, where only three games were won and three drawn out of thirteen. The fielding, inspired by the fine example of the captain, R. T. Trigg, reached a high standard throughout and R. H. Stearn kept an admirable length with medium-pace deliveries. C. J. Tinney was the most consistent bat.

With nine old colours in the side, Bloxham School again did satisfactory work, winning eight and drawing two of their twelve games. J. W. Butler handled the team well and enjoyed fair success

as an all-rounder, as did J. W. Barton, an intelligent off-spinner and forcing bat. R. F. de Lattre ran into form during the latter part of the season and played several attractive innings, but P. E. Coombe, who began well, fell away. R. Law, a young slow left-arm bowler, revealed great promise.

With a young and rather inexperienced team, Blundell's School enjoyed a fairly successful season. J. M. Edes led the side with distinction, but apart from a grand not-out century against Taunton was not so impressive with the bat as in 1947. A newcomer to the eleven, D. J. Hollands gave promise of developing into a good all-rounder, for not only did he top the averages with fast-medium bowling but he scored a confident 110 in the Downside match. The spin bowlers, M. C. P. Tatton-Tatton and J. P. Hallam, failed to reproduce their previous season's form, but another Colt, H. R. Bayly, did well with the ball.

Possessing a strong and well-varied attack, Bradfield College would have won more than four of their thirteen matches but for uncertain batting. The most effective bowlers were D. Cooper, a slow off-spinner who gave the ball plenty of air, and D. J. Burton (fast-medium). As in 1947, H. W. Joynt was the most successful batsman, and the captain, A. P. C. Parkinson, proved a useful all-rounder. Joynt will lead the eleven next year.

Bradford Grammar School experienced some close finishes. One match ended in a tie and victory was gained by one run over St. Peter's, York. A. C. Terry, who took his hundredth wicket for the school, was mainly responsible for the success enjoyed by the eleven. His fast-medium bowling claimed 43 wickets at less than six runs apiece. A. A. Knowles also bowled well at times, but the need for a good slow bowler was apparent. The batting was sound but undistinguished, the captain, W. K. Wilkinson, taking chief honours. A. C. Terry will go up to Oxford on the completion of his period of military service.

Recovering from a shaky start, Brentwood School again enjoyed a successful season. C. Griffiths was the mainstay both in batting and bowling, and under his leadership the team achieved an exceptionally high standard in the field. Another satisfying feature was the development of G. W. Horrex into a sound opening bat, but the entire burden of run-getting was too often left to these two players. W. J. Green, slow left-arm, P. J. Chambers, mediumpaced, K. A. Williams and J. F. Watson gave Griffiths strong support in attack.

Thanks mainly to the splendid bowling of A. H. Farrar, Brighton College enjoyed their best season since the war, winning

eight of sixteen matches. Farrar claimed 64 wickets—the highest number by a Brighton boy for thirty-five years—with an average of just over ten. He was ably supported by P. Kemp, but J. A. Ince was not so effective as in 1947. The batting lacked consistency. L. C. Cole, a Colt who entered the side late in the season, was most successful.

After three disappointing seasons there were distinct signs of improvement at Bromsgrove School, where three matches were won, three drawn and six lost. The batting was still weak, but the outcricket, under the excellent leadership of G. C. P. Higgit, was extremely keen, with the bowling of J. D. Link especially praiseworthy.

Bryanston School, with all last year's bowlers available, anticipated a successful season, but the absence of enterprising batsmen was so marked that only two matches were won, whereas eight were lost and two drawn. The captain, D. Wynne-Morgan, due to go to Cambridge, again headed the averages with fast-medium left-arm bowling; T. Sankey, J. Oldfield and J. R. Tustin contributed to a formidable attack. M. C. Geddes was most promising of a set of youthful batsmen.

The results at Canford School were only moderate, but the team improved steadily and, with nine players remaining, should develop into a powerful combination. The fielding was always efficient and often inspired, and did much to offset the limitations of the attack. The batting was uncertain, only J. A. Rowletts, a sound wicket-keeper, being consistent. He shouldered his heavy burden well, scoring nearly 600 runs at an average of 40. R. L. Drake bowled off-breaks a good length, but G. A. Milnes (legspinners) and P. B. C. Emby (fast-medium) proved expensive.

Despite the splendid all-round cricket of their captain, A. P. Hodgson, the Caterham School eleven went through a moderate season. A. Bull and R. D. Smith were fairly consistent with the bat, but the loss of one or two early wickets often heralded a general collapse. Hodgson bowled slow spinners with marked effect on the prevailing soft pitches and D. B. Campbell (fast-medium) kept a dangerous length, but the change bowlers were of lower standard.

Handicapped by the absence of their captain, N. R. Burt, for half the season, Charterhouse School nevertheless put up some creditable performances, notably a win over a strong M.C.C. XI. Most successful with bat and ball was S. E. A. Kimmins, whose cricket showed great improvement, but the batting, despite occasional good innings by A. Kamm (a very promising wicket-keeper),

J. W. H. May and J. M. Baker, was unreliable. Apart from Kimmins (fast-medium), the most useful bowler was R. L. Jones, who delivered leg-spinners intelligently without producing startling figures. The fielding generally was of a high standard.

Ably led by C. P. N. Swiney, Cheltenham College enjoyed fair success in school matches, winning three and drawing two out of six. The team possessed a fine opening pair in J. Lister and R. T. Procter, both of whom were selected for The Rest against Southern Schools, while Swiney, an attractive left-hander, B. Peskin and J. F. Tucker, who scored a rapid century at Lord's, could also be relied upon for runs. The out-cricket was generally impressive, but the attack lacked variety; D. M. Richards and J. D. F. Alexander (medium-pace) and D. E. L. Slater (slow off-breaks) shared the bowling honours.

Chigwell School batsmen never settled down on the prevailing wet pitches, and this weakness was largely responsible for the team's poor record of three wins, three draws and nine defeats. D. H. S. A. Anderson and T. D. W. Brookes played some attractive minings, while M. L. Phillips, I. J. Deans and the captain, A. B. Brooker, did well with the ball.

Christ's Hospital, with capable all-rounders in D. R. W. Silk J. A. Bailey and A. D. Pritchard, and very competently led by M. K. D. Gunton, enjoyed one of their most successful years. Silk, prospective captain, batted with remarkable consistency for an opener, and his bowling was often deadly. Bailey was the mainstay of the attack, and until he and Gunton were taken ill defeat was avoided. Lancing, Whitgift, Epsom and Eastbourne were beaten before Tonbridge inflicted the first reverse.

Recovering from a shaky start, a young City of London School eleven finished the season with some creditable victories, thanks mainly to a formidable attack in which honours were shared between five bowlers. The burden of run-getting rested largely on the shoulders of the captain, D. Knowles, but several others showed encouraging form. With the standard of the fielding generally high, the out-cricket was impressive, and J. I. Metcalfe's 35 wickets at less than six runs apiece represented consistently accurate bowling. A very young member of the team, B. W. Cridland, proved a promising all-rounder.

Although without notable batsmen, the Clifton College eleven achieved considerable success, thanks to fine bowling backed up by splendid fielding. D. C. Dickinson (medium-paced) was always dangerous and kept an admirable length, while T. S. Penny, though less accurate with slows, commanded respect. W. P. E. Lake,

quite fast, came into his own at Lord's with nine wickets for 47, but did little on the softer pitches. Although lacking an effective opening pair, the batting was solid, Penny taking chief honours

For the second year running Cranbrook School were undefeated in school matches, victories being gained over Dover, Sutton Valence, King's Rochester, Hurstpierpoint and Ardingly. Chief credit for this impressive record goes to the captain, J. D. J. Bluett, whose splendid, consistent batting brought an average of nearly 60 from ten completed innings. Besides being selected for Southern Schools, Bluett was twelfth man for Public Schools against the Services and he appeared for Kent II. Others who batted attractively were P. W. Cochrane and R. T. Nye. The attack, which relied too much on the slow off-breaks of J. M. Cochrane, was never as deadly as in 1947, but much is expected of A. R. C. Galpin, a young pace bowler.

Weather ruined all but two of their schools' matches, but in these Cranleigh School defeated Brighton and enjoyed the better of a draw with Epsom. On hard pitches the side made many runs; D. J. Lister, an attractive opener, and S. G. de Clive-Lowe played several good innings. M. R. Fairbairns found the damp turf prevailing in June well suited to his slow left-arm bowling and headed the averages for the third successive year. A promising fast-medium bowler was discovered in G. B. C. Jones, and the fielding generally was very good.

Expectations of a successful season at Culford School were never realised owing to the unaccountably poor form of the batsmen. R. D. Robinson, the captain, while sharing in the batting eclipse, bowled leg-breaks and googlies effectively.

Commencing with two victories, the Dean Close School eleven failed to win another match. The reason for this decline is not far to seek, for, with the exception of P. J. Leech, no player totalled three figures for the whole season. Leech, displaying all the concentration which his colleagues lacked, batted consistently well for an average of nearly 45. His pulls were especially effective. J. M. Oddy bowled well and was well supported by N. K. D. Rosser, but the task of dismissing opponents for totals small enough to make a win possible was often too heavy.

The season at Denstone College was disappointing. Of the batsmen, only P. G. Whiteside, the captain, came up to expectations, and the side seldom made enough runs to allow W. G. Tobias, a promising slow left-arm bowler, full scope in attack. This placed too much responsibility upon the medium-paced bowlers, J. Oliver, P. G. Martyn and B. Inions, who were steady but rarely deadly.

A keen Dover College eleven suffered from indeterminate batting and could win only one match, while seven games were lost and two drawn. J. M. Eames captained the side efficiently and proved useful in attack, but another hostile bowler was needed to support C. F. Horton.

Although the youthful **Downside School** team failed to win a match, there were several redeeming features in their disappointing record. Many of the more experienced players were unable to turn out for long spells during the season and this seriously upset the balance of the side. Most heartening was the sound batting form displayed by J. J. Doyle, who showed a variety of attractive strokes and would have scored many more runs but for uncertain running between wickets. Promoted from the Colts to captain the eleven, P. J. Denvir led the side well, but his bowling fell away considerably.

Led by a promising all-rounder in W. M. Mitchell, Dulwich College enjoyed another successful season, winning five and drawing one of their seven school matches. Mitchell (leg-breaks) and J. L. Ames (off-breaks) formed a contrasting spin attack and both secured fifty wickets during the season, the first Dulwich pair to do so since Bailey and Mallett in 1942. M. H. Bushby batted well and was especially attractive in exploiting his powerful pulls and drives. He was selected for Southern Schools (which Mitchell captained) and, ultimately, Public Schools. C. S. Marriott, the former Cambridge Blue, is succeeded, after 27 years as cricket master, by A. W. H. Mallett.

For the first time in many years **Durham School** found a good opening pace attack in E. C. Craven and M. W. Bell, and the result was one of the best seasons enjoyed by the school. Craven and Bell were well supported by C. W. Thomson, with leg-spinners, and R. W. Smithson, leg-breaks. The fielding improved over that of the previous year. Smithson showed leadership of a high order, and, although not as effective with the bat as in 1946, he played several splendid innings.

Unaccountably weak batting was responsible for a poor season by Eastbourne College, only two matches being won. Of the established batsmen the captain, J. W. Wills, alone scored at all freely, but the out-cricket was above average, chief honours in attack going to three medium-paced bowlers, P. F. Morgan, R. T. V. Brown and G. M. Lomax. Six of the side, including Morgan, Brown and Lomax, will be available in 1949.

Eltham College, with a young side, fared reasonably well; they won five and drew two of the eleven matches played. This success

was mainly due to the bowlers, P. Bairstow (medium-pace), D. L. Howat (slow left-arm) and the captain, A. L. Burrows (fast-medium). The fielding generally proved adequate, but the batting was disappointing.

Epsom College, with greater all-round batting strength than most of their opponents, nevertheless failed to win a match, seven out of twelve being drawn. P. Bunday, an aggressive left-hander, made many good scores; D. A. G. Eadie, P. Adlington, M. H. Richmond, J. S. Hall and the captain, M. J. Williams, were all in good form with the bat. The bowlers, led by Eadie and Hall, failed to live up to this example, the result often being a struggle to save the game after making a good start. Seven old colours remain for 1949.

Over-cautious batting and bowling that lacked sting led to another poor season by Eton College. Of the schools, only Charterhouse were beaten, while defeats were suffered from Winchester and Marlborough. The Lord's match with Harrow and the game against Wellington were drawn. Although six batsmen returned averages of over twenty, only I. R. Lomax scored his runs with a sufficiently aggressive spirit. S. D. D. Sainsbury did well, but T. Hare, who led the team creditably, failed to come up to expectations. The attack, as in 1947, was the main weakness. Hare, the most successful bowler, required more stamina for long spells, and, apart from J. M. Rankin, there was no adequate spinner in the side. The fielding improved steadily and C. E. A. Hambro was often brilliant behind the wicket.

The Framlingham College eleven proved one of the most disappointing for many years. With the possible exception of the captain, R. A. Quinlan, the batsmen revealed no ability to pick the right ball to hit. Quinlan and G. A. Warner were handicapped by frequent slow pitches but formed a dangerous opening attack, and received good support from P. M. Markham and D. C. Copeman.

Lack of "devil" in batting and fielding usually nullified good bowling by M. Scales and M. S. Davidson, with the result that Giggleswick School won only two matches. J. R. Jameson led the side intelligently, but his batting fell short of expectations, and the onus of run-getting rested largely with M. V. Neal, an aggressive left-hander who was not afraid to use his feet when facing spin bowlers.

Unsuccessful in school matches, Haileybury and Imperial Service College must blame weak out-cricket for one of their poorest seasons in recent years. Nine games were lost, five drawn, and only one match ended in victory. The fielding was lax, and

although J. C. B. Letts bowled off-spinners very well at times, the pace bowlers, P. R. L. Jackson, V. F. Browne and A. Fox, generally proved costly failures. A. R. P. Wrathall, slow left-arm, who looked a good prospect in 1947, lacked length and, quite often, direction. The batting was fairly strong, J. H. V. Dicks and Wrathall playing several stylish innings, while Letts, who scored an aggressive century at Lord's, and Browne hit the ball hard.

Unreliable batting was responsible for a very promising Harrow School team not reaching expectations. R. A. Jacques, bowling in-swingers off the wrong foot, and R. G. Marlar, who was equally dangerous as a new ball and off-spin bowler, enjoyed a successful season, although they never received the support which they deserved in the field. Of the batsmen, only A. S. Day, who performed well in all the inter-school matches, notably at Lord's, showed any run-getting consistency. He is the son of S. H. Day, famous with a century for Kent while still at Malvern. The captain of the eleven was G. C. Hoyer-Millar.

Excellent bowling by D. H. K. Rata and T. C. Dodds and consistently keen fielding were the main features of an extremely successful season at Highgate School. The only defeat was suffered at the hands of a strong Old Boys' XI, and the nine victories included those over Mill Hill, St. Paul's, King's Canterbury, and Aldenham. Rata bowled left-arm slows intelligently and accurately, while the medium-pace bowling of Dodds always commanded respect. Both players were selected for representative sides at Lord's. The batting failed to fulfil early promise, but the captain, R. D. Owen, played some fine innings, and W. Knightley Smith did well.

Weak batting was responsible for a disappointing season at Hurstpierpoint College, ten of fourteen matches being lost. Only K. R. Jenkin was at all consistent, and the captain, G. M. Pitcher, apart from one fine innings, failed to strike his best form. The bowlers, P. K. Ephraimson and Jenkin, performed well but were too often let down in the field.

The King's College School, Wimbledon, record of one win, two draws and seven defeats is unimposing, but ten of the side, including the captain, J. Wood, will be available again. R. H. Rham, the wicket-keeper, and M. Curry were the only batsmen to score freely, though K. T. W. Ambler was useful in the tail. The bowling was seldom other than steady, with Ambler taking chief honours.

The King Edward's School, Birmingham, record of six victories and three draws in seventeen matches fails to represent fairly the

strength of the eleven. Several of the lost games were extremely close and might have been won but for costly lapses in the field. The attack was strong, eight bowlers returning averages of under 20 runs a wicket, and P. Hutchings (medium-pace) and J. A. M. Harrod (left-arm slow) did particularly well. J. G. Harrison was most consistent with the bat.

King Edward's School, Stourbridge, enjoyed a moderately successful season, winning three and drawing five of their twelve matches. E. Barrett and F. B. W. Farmer, both of whom were selected for Worcestershire Schools, batted attractively but shouldered too much responsibility as the main run-getters. The bowling was strong and well varied, with S. G. Keene and B. F. Fieldhouse sharing chief honours.

Lack of consistency both in batting and bowling was the prime cause of another disappointing season at King's School, Bruton. J. M. Bordass led the side efficiently and was again the most successful player. P. R. Wilkinson and J. M. Gyles bowled steadily, but the attack lacked variety. The most satisfactory feature of the year was the continued improvement in the fielding, which was often brilliant.

Indifferent batting was the cause of a poor season at King's School, Canterbury, where three matches were won and three drawn of the twelve played. P. J. Walker was fairly consistent, but the other batsmen rarely came off and there was little support for the bowling of I. F. Black.

Thanks mainly to splendid fast bowling by their captain, T. P. J. Dyke, the King's School, Ely, eleven improved after a very poor start and finished the season with ten wins from sixteen games. Dyke, who will be at Cambridge in 1950, at times bowled very fast, and he received sound support from D. J. O. Reynolds, a medium-paced bowler who swings the ball considerably. The batting was mediocre, only M. R. Tett displaying sufficient confidence, although J. N. Wagstaff revealed promise.

King's School, Rochester, again benefited from a spell of coaching by L. E. G. Ames, and of the seven school matches three were won, one lost, two drawn, and one game, that with Framlingham, resulted in a tie. P. G. Bradley, who led the team with distinction, once more topped the batting list, and he received splendid support from another all-rounder, J. M. Cook, who scored a rapid century against Dover College and also headed the bowling. Three of the side will be available next year.

For the third successive year N. H. Bellis topped the Kingswood booking averages, and mainly due to his inspiring leader-psix matches were won, two drawn, and only two lost. Bellis also the most successful batsman. R. Wilkinson, another all all-rounder, failed to find his best form with the bat.

Splendid bowling by P. M. H. Robinson, the captain, was gely responsible for Lancing College enjoying another good mon. Of the school matches, only that against Christ's Hospital lost. Westminster, Brighton, Eastbourne and Hurstpierpoint beaten and the game against Tonbridge was drawn. Robinson headed the bowling averages with away-swingers and also ded soundly on occasion. R. A. Naylor improved considerably became the most consistent batsman in the side; D. A. Swales addid well.

Leeds Grammar School were very moderate with the bat, and hough R. N. Lewis, the captain, occasionally found his true m, he was seldom as impressive as in 1947. E. D. Butterworth med a difficult batsman to dislodge, and among the younger mmen of promise S. G. Metcalfe was prominent. Another young wer, K. Howard, bowled quite fast; he received good support m.D. Watkinson, M. Whimster and D. B. Hufton.

Excellently served by their four main bowlers, Leighton Park the word were undefeated by a school side and won all but one of the seven matches. R. W. Morford used his great height with and effect and at times bowled very fast. J. Roffey, fast left-arm, may the ball appreciably but did not always control it sufficiently. Though the batting was rather uncertain, the combination of the comfortably. N. L. Alderson was aggressive, but apart from a coccasional good innings by D. I. Hamilton the rest of the timen did little.

Cricket at The Leys School showed further signs of recovery me the lack of coaching during the war. The attack was fairly mile, but the side seldom scored enough runs to allow R. M. Walker to make full use of his spin bowlers. Walker stood out as best all-round cricketer in the eleven, but the brunt of the runting rested heavily upon him at times. I. T. Craig took full mantage of the new ball and J. E. Nisbet permitted few liberties.

The unaccountable loss of form of their captain, G. P. R. Male, so affected a promising Malvern College side that they do win a single school match. Esdale captured only half wickets of the previous season at nearly double the cost and

he accomplished little of note with the bat. Nevertheless the batting was generally strong, and J. S. V. Davy played some fine innings including a splendid 167.

Despite creditable victories against Eton and Rughy at Lord's Marlborough College were disappointing because the batsmen seldom made enough runs to back up a very adequate attack D. M. Savill led the side competently but never found his true form with the bat, and the burden of run-getting rested mainly upon P. J. Ellwood and T. G. Abell. R. A. Barnes and J. A. Tyzack useful opening bowlers, received good support from J. A. Burnett and a left-hander, W. J. Pinney.

Strong in all departments of the game, Merchant Taylors' School owed most to the batting of their captain, D. G. S. Baker. and the bowling of P. H. Sims for their undefeated record. Baker showed a welcome return to form with the bat and his captaincy was efficient, but he did little as a bowler. Sims developed into a dangerous fast-medium bowler, and R. M. Barclay, although less successful than in 1947, did well. A. M. Joyce kept wicket immaculately.

The most satisfactory feature of Mill Hill School cricket was marked improvement in fielding towards the latter part of the season. Despite one bad spell, A. W. Fenn was the most consistent run-getter in the side, and the captain, M. H. C. Meggitt, batted attractively. Of the bowlers, S. R. Samuels and A. W. Ramsay, both medium-pace, were most successful.

Eight of the eleven matches played by Mount St. Mary's College were drawn, and of the remainder one was won and two lost. T. Bateson and his captain, J. M. Kelly, batted soundly; Kelly also did well with the ball. J. Veys was the best bowler.

With six of the previous year's side available, Newcastle Royal Grammar School enjoyed a fairly successful season, thanks mainly to a well-balanced attack. The batting, although not particularly powerful, looked solid, R. I. Harrison taking chief honours. D. R. Reid was the best bowler.

Although without a win in inter-school matches, Oakham School fared better against senior sides, gaining two victories. The strength of the eleven lay in batting, P. F. Willis, B. H. Banister, and the captain, C. W. Bastow, all proving capable and attractive run-getters. The attack lacked a right-arm bowler of pace and too much work devolved upon the slow spinners, P. R. Forman (left-arm) and R. A. Isaac and J. Lambert (fast left-arm).

Mainly because of innocuous bowling, Oundle School failed to win a match and, in fact, never succeeded in dismissing a whole side. The batting was more impressive; C. J. Swan, an enterprising left-hander, C. M. Coleman Smith, and the captain, J. S. Haines, all played good innings. Wet pitches caused the downfall of the quicker bowlers, Swan and W. A. Beaumont, but M. P. Brooks showed promise.

Perse School went through a satisfactory season, thanks to splendid pace bowling by P. W. Gooden and P. L. Elliott; they won seven and drew five of their 17 games. Gooden, a tall lefthander, derived plenty of life from the pitch and possessed a deceptive swerve; both he and Elliott kept an accurate length. S. Woolston and D. J. Cottrell were more than adequate change bowlers. The batting was often suspect, but B. S. Adams proved difficult to dislodge and W. H. Percival shaped well against the faster bowling.

The magnificent batting of their captain, M. J. D. Bower, overshadowed all else by Radley College, who won seven matches; the remainder were drawn. Bower's 207 not out against St. Edward's was a school record, and he scored two other centuries during the season-111 not out v. Stowe and 100 v. Free Foresters. Bower, who also claimed 40 wickets with slow off-spinners, captained Public Schools at Lord's. Two lively fast-medium bowlers, J.W. R. Armstrong and R. M. Sorsbie, gave valuable help.

Lack of concentration was a general batting weakness at Reading School, whose results were only moderate. W. K. C. Morgan led the side intelligently and was a fine example in the field, while his bowling often proved a match-winning factor. J. C. Rudd batted attractively and P. Batten employed aggressive tactics with some success. Mostly very young, the players should do better in 1949.

But for weakness in batting, Repton School, who won four and lost six of their fourteen matches, would have greatly improved upon that record. In R. D. Bailey the team possessed a genuine fast bowler who performed consistently well on pitches which rarely favoured his type. W. A. S. Wesson, the captain, and A. C. W. Lewis enjoyed marked success with bat and ball, and I. H. C. Cory improved considerably behind the stumps. Five old colours stayed on.

With a rather youthful side, Rossall School won two, drew eight and lost three games. None of the five school matches reached a definite result, but in these only Shrewsbury showed to better advantage. J. M. Phillips, who headed the batting averages, revealed considerable promise. He watched the ball closely and scored freely when well set. The mainstay of the bowling was J. A. Carter, the captain, whose length and accuracy were specially useful in a crisis. Although disappointing with the bat, G. P. Marsland developed into a dangerous opening bowler, and J. M. P. Abbatt enjoyed fair success with leg-breaks. Nine of the team remain for 1949.

Although Rugby School fared badly in school matches, with losses to Repton, Uppingham and Marlborough, the eleven often performed creditably against club sides. The weakness was mainly in batting. W. R. Mason, an exceptionally fine wicket-keeper, and D. R. Wright developed into a steady opening pair, but the remainder of the batsmen never struck form. Led by J. E. Robinson and O. R. S. Bull, both of whom swung the ball appreciably, the attack was more prepossessing. D. R. Wright and the captain, A. McL. Macdonald, bowled well. After an inauspicious start the fielding improved considerably.

Apart from D. Stewart, Rydal School batsmen never struck their top form, and the eleven fared moderately, winning six and losing five of their sixteen games. Stewart, who scored two grand hundreds, enjoyed his most successful season, and B. J. Wilson, the captain, also improved considerably, although his batting lacked sufficient concentration to be consistent. The bowling, which was expected to be a serious weakness, proved the main strength of the eleven. A. J. Lord, fast left-hand, and P. W. Hughes, medium-pace, bowled with commendable determination, and J. G. Bailey, slow left-hand, did very well in his first season.

Possessing a fine left-handed batsman in M. G. Smith, St. Alban's School won four of their six school matches. Smith, who watched the ball closely, played several forcing innings, including one hundred. The captain, R. E. Ashworth, batted consistently and his pace bowling was more effective than in 1947. D. J. George, the best of a powerful attack, made good use of natural swing.

With only two old colours available, St. Bees again fielded an inexperienced team, but did better than anticipated on the generally soft pitches. Credit for this goes mainly to the slow right-arm bowler, B. J. T. Brothers, who kept a consistently good length and flighted the ball well. S. P. Hayek, J. J. H. Swinglehurst and J. C. Fecitt were also prominent in a formidable attack, but the batting, despite some good innings by D. R. W. Hartley, was not so impressive.

St. Dunstan's College enjoyed another good season, thanks to a really formidable attack in which the captain, R. J. Edwards, and J. A. Pierce were best. Bowling medium to fast, Edwards kept an admirable length and fully deserved his success, while Pierce, left-arm slow, gained some remarkable figures against slow-footed schoolboy batsmen, although often punished heavily by club players. F. W. Hankins, a dependable wicket-keeper, proved the best batsman.

Cricket at St. Edward's, Oxford, seldom reached a high standard. The batting was mostly mediocre, although P. H. Russell-Smith played some good innings; the bowling rarely looked other than steady.

St. John's School, Leatherhead, owed much to the all-round success of their captain, J. W. Osborn, for a fairly good season during which two of the four school matches were won. Apart from Osborn, only R. K. L. P. Smith revealed consistency with the bat. The bowling was well varied, with E. A. Ll. Morgan, medium-pace, taking chief honours.

Although the St. Paul's School eleven improved considerably as the season progressed, they never really recovered from a disastrous start in which the first four matches were lost by overwhelming margins. Lack of confidence prevented A. B. Barter, a stylish stroke-player, from scoring more runs than he did, and the batting generally was too unenterprising. Barter was also the pick of the bowlers and his slow off-spinners proved very dangerous at times. D. A. S. Blacklaw, fast-medium, swung the new ball and kept a useful length; A. R. Jay and D. T. Mills were adequate change bowlers. C. J. Godfrey led the side well and he inspired a high standard in the field.

The fine all-round form of M. Speight, the captain, was the chief feature of the season for St. Peter's School, York. Seven matches were won, seven lost, and one drawn. Leeds, Worksop, Giggleswick and Ampleforth were among those beaten. Two consecutive games were decided by the margin of one run. Most of the team were very young, so there is good promise for the future. The fielding was keen and improved considerably as the season progressed. Speight will be at Oxford in 1949.

An inexperienced Sedbergh School eleven, eight of whom will be available in 1949, felt the lack of a match-winning bowler and failed to defeat any school team, although they enjoyed the better of an exciting draw with Rossall. N. E. Umbers led the side intelligently but he had a poor season with the bat, and W. B.

Moralee failed to produce his best form. The bowling and fielding was adequate but seldom formidable, although R. W. Durrans kept wicket consistently well.

Excellent all-round cricket by P. Prodger and deadly mediumpaced bowling by R. G. Russell were prominent for Sevenoaks School. Apart from Prodger, no batsman completed a hundred runs in the season. He possessed a wide range of strokes and his bowling also commanded respect. Russell was especially dangerous with the new ball and he got exceptional nip off the pitch. Thanks almost entirely to the combined efforts of these two players the school won three and drew four of their twelve matches.

Particularly strong in batting, Sherborne School again did well, winning six and drawing four of their twelve matches. Beginning the season with several big scores, R. M. Skinner lost some of his consistency, but F. M. Anderton found his best form in the later matches. Others who batted well were D. I. Gillespie, D. S. Wrinch and the captain, M. W. Pailthorpe. The bowling was varied, D. C. P. R. Jowett, often deadly, was well supported by J. R. Norris and D. M. Turner.

With a powerful all-round batting side and a match-winning bowler in M. T. Robinson, Shrewsbury School enjoyed a successful season. In school matches Repton and Uppingham were defeated, while Malvern and Rossall were fortunate to draw. Robinson, again selected for a representative match at Lord's, took 49 wickets for the second successive year and was strongly supported by A. B. Bennett, J. Clegg and A. G. Phillips. At full strength the team batted down to No. 10 and, although there were no individual stars, no less than eight players scored over 200 runs in the season.

Led by a useful all-rounder in B. W. Balls, Solihull School started well, but failed to maintain this form. A. E. Bannister played several good innings but lacked consistency. J. E. Sreeves improved considerably with the bat and topped both sets of averages. He was well supported in attack by C. D. Piggins, but, after one excellent performance, P. G. M. Sperry lost form.

A very young Stamford School eleven did far better than was anticipated under the able leadership of N. Miller. Of fourteen matches played, six were won and six lost. The strength of the side lay in the attack, which was magnificently led by V. F. C. Peck and P. R. H. Bacon, who between them claimed 94 of the 134 wickets taken during the season. The batting suffered from lack of concentration, but M. J. K. Smith, W. R. Burchnall and D. L. Gilbert, also a useful wicket-keeper, performed creditably.

Stonyhurst College owed much to the excellent leadership of C.E. Shepherd for their undefeated record. Besides successes with bat and ball, Shepherd set a fine example in the field and his tactics were seldom faulty. P. J. Leyden's batting revealed great powers of concentration and he used his feet well; other promising batsmen were T. R. Keeble, A. M. Wilson and G. F. Manning. B. M. Rooney, a right-arm medium-paced off-spinner with natural nip off the pitch, gained the remarkable match figures of twelve wickets for 32 against Denstone, and Shepherd's slows always commanded respect.

Stowe School did well to win six matches and lose only three, but the batting did not come up to expectations. The brothers D.E. and J. F. Conington, who headed last year's averages, seldom showed their true form, and the captain, D. A. Connell, usually found it necessary to bear a very heavy share of the run-getting. The out-cricket was better. M. D. Cobham got plenty of life from the pitch, but Connell's bowling suffered from the added cares of captaincy. Eight of the side will be available in 1949.

Sutton Valence School gained a close victory over their chief school rivals, Dover College, but did not enjoy a satisfactory season, as they won only one other match and lost six. A. F. Tipples, an efficient leader, proved a useful all-rounder, but the batting generally was half-hearted. M. A. Whittaker and M. C. Parnell were the best bowlers.

Taunton School lost only one school match, against Blundell's, during the season, and nearly avenged this defeat shortly after. L. K. Lewis capped a magnificent season with centuries against Downside and Canford. Besides his batting, Lewis was an inspiring example to his team in the field and he proved a useful change bowler. G. MacLennan and D. C. Suter shaped well, but the rest of the batting was uncertain. F. R. Cummings and P. H. Dale, the mainstays of the attack, between them claimed 53 of the 94 wickets which fell to the school.

With their captain, M. J. Bickmore, hampered by arm and knee injuries which reduced his effectiveness as a fast bowler for the greater part of the season, Tonbridge School fared disappointingly. The team was held together by the combined efforts of three all-rounders, Bickmore, M. C. Cowdrey and J. R. Sambrook; when these players failed a general collapse usually followed. Cowdrey, showing marked improvement with bat and ball, headed both sets of averages, and Sambrook developed into a steady opening batsman.

Weak fielding was mainly responsible for a very disappointing season at Trent College. After a moderate start the main batsmen, F. Smit and J. B. Blundell, recovered their form to a certain extent, but there was no consistent run-getter. P. Senior-Smith bowled leg-breaks with marked success in school matches, although he often suffered severe punishment against club sides, and B. Nicholson kept a steady length, but the absence of a really hostile bowler was always felt.

Despite serious batting weaknesses the University College School eleven enjoyed a fairly successful season. This was due to excellent out-cricket, and especially the bowling of J. K. E. Slack and E. Clarke. The fielding was keen and T. E. Dorey conceded only eight byes in the same number of games. Apart from Slack and J. E. Barrett, the opening pair, none of the batsmen revealed more than average ability.

Possessing two formidable fast-medium bowlers in T. A. Hall and C. M. Dennis, Uppingham School enjoyed a successful season, winning eight and drawing two of thirteen games. Under Hall's inspiring leadership the team often performed brilliantly in the field, and C. A. M. O'Hagan and C. Barrow proved capable change bowlers. The batting was not so convincing, although Hall, C. J. B. Leader and J. M. Barker, a left-hander, at times scored freely. Another left-hander, W. J. Corner, was due as captain in 1949.

Excellently led by E. J. Belton, the Wellingborough School eleven won six matches, drew four and lost three. Belton displayed splendid all-round form and headed the batting and bowling averages besides setting a fine example in the field. H. M. Denton, A. F. Teesdale and T. A. Jeffries also performed well.

Wellington College, although undefeated by a school side, did not enjoy a very good season. R. O'Brien and P. M. James usually gave the batting a sound start, but the middle batsmen were not sufficiently aggressive, and this lack of enterprise was responsible for several games resulting in tame draws. The bowling was steady but lacked variety, with I. T. S. Evers claiming most wickets. P. R. Ingram-Johnson was a capable captain, but he broke a bone in his hand and consequently missed many games.

The feature of the season at Westminster School was the reopening of the ground at Vincent Square which had been out of use since 1938. Not yet fully recovered from maltreatment during the war years, the turf gave considerable help to bowlers rather than batsmen, with the result that scores were generally low. The incentive of playing at home did not engender the confidence

expected, for only one match was won while five were lost. S. L. H. Clarke and D. J. P. Wade bowled steadily, but apart from C. C. P. Williams none of the batsmen approached really good form.

After losing their first three games, a young Whitgift School eleven settled down and lost only once more, while seven matches were won and four drawn. R. Subba Row enjoyed a successful season with the bat and R. N. Lewis again headed the bowling averages. Three other bowlers took over 20 wickets, E. A. Attew, P. I. Price and F. M. Cannon.

The remarkably consistent batting of I. P. E. Gay and the excellent bowling of D. R. Peppiatt were the highlights of a very successful Winchester College season which culminated in the defeat of Eton for the first time since 1920. Gay, who with Peppiatt was chosen for a representative match at Lord's, scored nearly 600 runs and in school games averaged over 61. Kept out of the team until early June with cartilage trouble, the captain, D. W. R. Evans, played several fine innings and led the side with conspicuous success. J. P. Raison and B. P. Guard also batted well, and J. G. A. Varley proved a dangerous opening bowler with Peppiatt.

The fortunes of the Worcester Royal Grammar School team depended almost entirely upon the efforts of three players—the captain, N. M. Woodcock, G. S. Thompson and D. J. Francis, and it is to their credit that seven of seventeen matches were won and six drawn. Woodcock enjoyed one of his best seasons with the bat besides leading the side with distinction, and Thompson provided invaluable support. The opening pace attack of Francis and Thompson proved extremely effective, and another bowler who commanded respect was R. J. G. Bird. The fielding was generally of a high standard.

Worksop College, with seven old colours available, felt the lack of consistent batsmen, and were successful only once, while five matches were lost and seven drawn. W. H. Gibson, B. S. Butler and R. M. Sumrie, the captain, batted soundly at times, but the tail-enders seldom rose to the occasion. The out-cricket was more impressive, but a really hostile bowler was needed to support J. C. Wright (medium-pace) and J. E. Gay (slow off-spin).

The brilliantly consistent batting of their captain, J. A. Tobin, was the feature of a successful season for Wrekin College. Tobin, who was selected for both representative matches at Lord's, scored nearly 1,000 runs and again averaged over sixty. The remainder of the batting was uncertain by comparison, but J. B. Nichols and K. G. H. Cooke made many useful scores. The out-cricket was

keen and four bowlers claimed over 30 wickets each—A. N. Fenton, M. J. Rowe, I. F. B. Young and a left-hander, Nichols. K. I. Bunster kept wicket reliably. Tobin will go up to Oxford.

Despite splendid fast bowling by C. Joseph, Wycliffe College cricket was disappointing, mainly because of dispirited batting. An efficient captain, V. Ganz was the only batsman of note in the side and his wicket-keeping was consistently good. Keeping a splendid length, Joseph claimed fifty wickets at less than nine runs apiece, and, with F. Ibbotson (slow spin) giving valuable support, the attack was always menacing.

With only two old colours available, Wyggeston Grammar School did not have a good season. J. C. Rimmington, who took over the captaincy when E. M. Brown left midway through the term, batted consistently and was selected to lead Leicestershire Public Schools and a Leicestershire Colts XI, but the remaining batsmen accomplished little. K. B. Bones (fast-medium) bowled well, but, apart from D. E. Humberstone and N. Sutherland, he received scant support.

SCOTTISH SCHOOLS

The splendid form displayed by the captain, I. A. H. Syme, overshadowed all else during a moderate season at Edinburgh Academy. Once again Syme proved the most successful all-rounder in the team and he was the only Scot selected for the Schools trial at Lord's. Besides hitting the only century, J. M. Allan bowled consistently well; W. S. Brow and M. Magnusson gave strong support.

Despite consistent batting by A. S. Hay, Fettes College won only two of fifteen games and eight were lost. A. T. H. Henderson also displayed good form, but the rest of the batsmen were disappointing. The attack was varied but lacked steadiness.

The remarkably effective leg-break and googly bowling of C. A. B. Campbell, who took twenty wickets at less than three runs each, was the main feature of the season at Glasgow Academy. Besides Campbell, who also headed the batting, the captain, I. F. Colquhoun, A. C. S. Bennett and G. C. Aitken made valuable contributions to the team's undefeated record.

Taking over seventy wickets for the second successive season, H. F. Neilson was again the pick of a formidable Loretto School attack. Neilson, fast-medium left-arm, was always hostile and kept a good length for long spells, while strong support was forthcoming

from W. D. Marr, fast-medium, A. H. James, leg-spinners, and K. M. Spence. The batting, despite attractive innings by A. C. Barr and the captain, J. C. Oscroft, was less reliable. Eleven matches were won, five lost, and three drawn.

Thanks mainly to the inspiring leadership of I. G. Forman, the Merchiston Castle School team recovered from a very poor start, and by the end of the season compared well with the successful sides of the two preceding years. A fairly quick left-arm bowler and an aggressive bat, Forman enjoyed a good season, as did another useful all-rounder, A. B. Taylor, while J. R. Glen and P. N. Paterson-Brown showed promise with the bat.

The most satisfactory feature of the cricket at **Trinity College**, Glenalmond, who won seven matches, lost eight and drew two, was the high standard attained in the field. The batting, despite several sound displays by G. C. Sharpe and A. C. Denholm, was not reliable and the bowling was steady rather than deadly. H. J. Denholm, slow left-arm, was the most hostile bowler, but a tendency to pitch short lessened his effectiveness. The captain, I. C. Burnett, enjoyed fair success as an all-rounder.

George Watson's Boys' College, in one of their most disappointing seasons, lost thirteen matches, drew three, and won only one. W. M. Ross, a promising left-arm bowler, and P. Everett often placed the side in a strong position, but the batting seldom rose to the occasion.

PUBLIC SCHOOL AVERAGES

The name of the captain is indicated thus †
Innings marked * are not out.
For Scottish Schools, see end of this section.

BOY A TELESCOPER IN	ALDEN	HI	AM	SCI	TOOL				
Batting			9330	-					
G. C. Pennington T. J. Law J. R. Heron †A. S. Heywood-Jones	13 14		10t ou 4 0 3		Runs 298 188 157	Hig	shest inr 54* 59* 21*	ns. 	Average 29.80 14.46 14.27
C. S. Rogerson	11 12		0		123 121		31 23		11.18 11.00
Bowling									
†A. S. Heywood-Jones G. C. Pennington R. H. M. Arkell	Overs 221 158.5 68	 	1aide 60 38 13	ns 	Runs 530 379 178		22		Average 10.81 11.84 11.86
Batting	ALLE	YN	'S S	CH	OOL				
M I Stawart	Innings	N	ot ou	ts	Runs	Hig	hest inn	ıs.	Average

M. J. Stewart	. 15	Not outs 0 4	419	73	27 93
Rowling					

DOWING									
	Overs	N	Taide	ns	Runs		Wicket	9	Average
L. F. Walker	30		6				12		6.16
J. F. Pretlove	182.5		53		414		39		10.61
†T. Garrett	42.1		3		400		10		13.90
P. K. Hicks	65		12		181	• • •	10		18.10
M. J. Stewart	130		30		340		16		21.25
	150		30		340		10		41.43

ALLHALLOWS SCHOOL

Batting									
	Innings	N	ot ou	its	Runs	His	hest i	nns.	Average
†M. Ray Hills	. 16		0		519		85		32.43
K. G. Hutchings	. 15		4		322		55		29.27
W. T. M. Luff	. 16	1	1		260		61		17.33
J. P. Sauvage	. 11		3		107		37		13.37
O. M. Rowlands	. 11		2		113		31		12.55

Bowling							
	Overs	N	Taide	ns	Runs	Wickets	Average
S. J. Harvey	103.3		13		373	34	10.97
W. T. M. Luff	101		24		270	24	11.25
D. J. Fulton	165.3		51		404	34	11.82
P Toylor			0		257	15	 17 12

AMPLEFORTH COLLEGE

Batting				-					
	Innings	N	ot ou	ts	Runs	Hi	ghest in	ins.	Average
†G. A. Robertson	. 11		2		292		100		32.44
J. F. Murphy	. 9		1		237		54*		29.62
P. J. Sheahan	. 9		1		132		29		16.50
P. A. Wilcox	. 9		0		137		32		15.22

Bowling	Overs	N	1aide	ns	Runs		Wicket	S	Average
M. Tate	103.1		7 37 13	::	143 272 163	::	18 26 13	::	7.94 10.46 12.53

BEAUMONT COLLEGE

Batting	Innings 20	No	t ou	ts	Runs 633	Hig	hest in	ns.	Average 35.16	
M. B. Sheridan †B. P. Dillon P. Southwell	. 18		2		283 235	::	67 *		17.68 13.05	
C. Ennis	. 20		3	::	171 231	••	57*		12.21 12.15 12.11	
R. E. Unwin	. 19	••	1	••	218	••	40		12.11	

Bowling	Overs	N	Taide	ns	Runs	1	Vicket	s	Average
R P. Dillon	4.07		51		501		40		12.52
J. Moore			27		324		21		15.42 16.78
P. Southwell	. 99		24		319		19		19.52
E. Cruttenden	. 112		24		3/1		16		20.00
R. E. Unwin	. 56		5		320		11		30.63
V Shilletto	. 85		9		331		11		20.00

BEDFORD SCHOOL

Batting	Innings	N	ot ou	its	Runs	Hig	ghest in	nns.	Average 34.07
†B. E. Disbury	. 15		2		443		89 36*		24.55
F. A. Pinguet	. 13		4		221	••	130	• •	23.07
G. D. Moulton	16		3		300 150		49	::	21.42
W. K. Pool			0		168	::	35	• • •	18.66
R. D. Payne			2		198		26		18.00
J. W. Fry			1		192		56		16.00
J. A. Spooner			1	•	232		51*		15.46
A. D. R. Dawes			2	• •	152		37		12.66
A. N. Jordan	14		-						

Bowling	Overs	N	1aide	ns	Runs		Wicket	s	Average
B. E. Disbury			42		359 304	• 1	30 24	••	11.96
P. A. Mounfield			18	••	462	-	33		14.00
J. A. Spooner	165 2		33		408		29		14.07

BEDFORD MODERN SCHOOL

Batting	Innings	No	ot ou	ts	Runs	Hig	hest in	nns.	Average 100.33
R. E. G. Jeeps P. G. Miller		••	5		301 310	::	88		34.44
R. F. Graves	. 9	• •	0		146 202	::	45		20.20 17.50
J. H. L. Davis		•••	2	••	105	••	58		17.30

Bowling	Overs	M	Taide	ns	Runs	Wicket	s	Average 9.16
P. G. Miller	110.5		29 37 22		211 247 196	 25 16	::	9.88 12.25

Ratting

Dublic	School	Cricket	in 1948
Public	SCHOOL	Cricket	111 1740

Dawling

BERKHAMSTED SCHOOL

D. F. M. Pringle	Innings 12	ot out	ts	Runs 318 81	 61*	 Average 31.80
A. J. Birrell D. H. Mills	. 12	 0		155 142	 42 41 36	 16.20 12.91 12.90

Bowling

D II MEII	Overs	N	Maide	ns	Runs	Wickets	Average
D. H. Mills	153.5		45		315	 41	 7 (0
J. M. V. Turner	112.2	• •	31		248	 26	 9.53
†J. Barrett	113.2		21		281	 29	 9.68

BISHOP'S STORTFORD COLLEGE

Batting

See Francisco DE Cons	Innings	Not outs			Runs	Hig	hest in	Average	
C. J. Tinney	. 13		2		242		70*		22.00
K. Bennett	. 13		1		198		43*		16.50
†R. T. Trigg	. 13		0		193		65		14.84
W. W. McDougall	. 12		0		173		78		14.41

Bowling

	Overs	N	Taide	ns	Runs	Wicket	S	Average
R. H. Stearn	194		36		476	32		14 87
K. Bennett	143		23		485	 14		34.64

BLOXHAM SCHOOL

Batting									
	Innings	N	ot ou	its	Runs	Hic	thest in	nns	Average
R. F. de Lattre			4		190	-116	77*	1113.	27.14
P. E. Coombe	. 12		2		221	• •	52	-	22.10
J. W. Barton			ō		227	• •	63	nah	18.91
T. H. Civil	. 11		4	•	115	• •	37	• •	16.42
R. K. Liddiard			i		156	• •	28*	•••	15.60
†J. W. Butler	. 12		î		158	• •	47	•••	14.46
F. B. Watts	8	• • •	Ô		110	• •	26		13.75
P. C. Jones	. 12		ő	• •	136	• •	32		11 33

Bowling

Southing	Overs	Maide	ns	Runs	,	Wicket	s	Average
J. W. Barton	162	42		462		47		9.82
R. Law	. 117	18		335		33		10.15
J. W. Butler	. 80	. 17	J.R.	220		13		16.92

BLUNDELL'S SCHOOL

Batting

Datting									
	Innings	N	ot ou	its	Runs	Hi	ghest i	nns.	Average
†J. M. Edes	. 15		2		403		100*		31.00
J. D. Howard			0		118		55		23.60
P. Richards	. 16		2		272		53		19.42
D. J. Hollands	. 14		2		219	•	110		18.25
J. P. Hallam	. 14		2		157	•	46		13.08

DOMING	Overs	Maidens			Runs	Average		
D. J. Hollands	35.1		7		104	 14		7.42
IP. Hallam	176.4		40		376	 25		15.04
H.R. Bayly	93.5		19		326	 20		16.30
M.C. P. Tatton-Tatton	171.1		42		403	 24		16.79
IM. Bedford			23		287	 14		20.50
C.R. C. Beresford			11		257	 11		23.36

BRADFIELD COLLEGE

Batting	Innings	Not outs						ıns.	Average
H.W. Joynt	. 15		1		364		89*		26.00
A.P. C. Parkinson			2		310		70		22.14
M.E. Taylor			4		107		27*		17.83
IV. DuBuisson			2		209		58*		17.41
D.J. Ronaldson		10	ō	195	233	151	52		14.56
D.J. Burton			2		106		37*		10.60
Dawling									

bowing								
	Overs	Maidens			Runs	Wicket	Average	
A.P. C. Parkinson			20		230	 18		12.77
I.V. DuBuisson			8		180	 13		13.84
D. Cooper			33		381	 23		16.56
D.J. Burton			21	N	332	 17		19.52
H.W. Joynt	177.1		43		413	 21		19.66
C.J. Lee	116.1		22		342	 17		20.11

BRADFORD GRAMMAR SCHOOL

Batting	Innings	N	ot oi	ıts	Runs	Hig	hest in	ins.	Average
W.K. Wilkinson	. 12		1		229		60*		20.82
A.S. Fox.			0		159 125	• • •	33		14.45 13.88
A.C. Terry H.C. Powell	10	• •	0	::	135	::	32		13.50
I.D. Waterhouse	. 12		1		122		66*		11.09
Raulina									

Bowling	Overs	N	/Iaide	ens	Runs			Average	
A.C. Terry A.A. Knowles	162.1 87	• •	69 23		236 223	::	43 20		5.48 11.15

BRENTWOOD SCHOOL

th Griffiths	. 16	N	ot ou 3 4 0	its 	Runs 499 382 171	Highes 125 88 40	*	Average 38.38 31.83 11.40
Bowling W.J. Green P.J. Chambers C. Griffiths K.A. Williams J.F. Watson	. 85.5 . 184.3	 	Iaide: 6 19 41 18 15	ns 	Runs 125 233 447 323 310	Wiel	· · · · · · · · · · · · · · · · · · ·	Average 7.81 13.70 13.96 16.15 19.37

Datting

Datting

BRIGHTON COLLEGE*

Batting									
	Innings	N	ot ou	ts	Runs	Hio	heet in	nne	Average
L. C. Cole	. 9		4		98	1116	23*	1115.	
J. A. Ince	17		0	• • •	291	• •	43		19.60
A. H. Farrar	17	•	3		239	::			17.11
†D. G. Owen	17	•••	ő		251		54*		17.07
R. H. P. Miller	. 17	• •	0		215		68		14.76
P. Kemp	. 15		0				62		12.64
I D Gordinan	. 13		0		179		32		11.93
J. D. Gardiner	. 1/		1		160		25		10.00

Bowling							
	Overs	Maidens	Runs	,	Wicket		Average
A. H. Farrar	278.3	67	690		64	•	10.78
P. Kemp	211.2	49	502		44		11.40
J. A. Ince	155.5	19	501		28		17.80

BROMSGROVE SCHOOL

Datting	Innings	N	at a.	***	Duna	TT:	1		
M. R. H. Colato	. 10	14	0 0	its	122	Hig	gnest ii	ins.	Average
R. W. Evans	. 11		0		125		68		11.36
J. A. Wood	. 11		1		108		62*		10.80

Bowling Overs Maidens Runs Wickets Average J. D. Link 170.2 51 240 35 6.85 D. N. Fellows 44.2 5 112 14 8.00 J. M. Tudor 91.5 11 231 17 13.58 N. T. Sisson 63.4 7 211 12 17.58

BRYANSTON SCHOOL

Datting	Innings	N	ot ou	ts	Runs	His	hest in	nns	Average
M. C. Geddes	. 12		1		228		51*		20.72
D. W. Downham †D. Wynne-Morgan	12	••	2		133		59 21		13.30 10.45
Bowling	12			••	113		21	•	10.43

Bowling								
	Overs	N	Taide	ns	Runs	Wicket	ts	Average
D. Wynne-Morgan	141.4		36	10	366	 44		8.31
T. Sankey	41		10		109	 11		9.90
J. Oldfield	73.2		21		156	 14		11.14
J. R. Tustin	51		2		223	 20		11.15

CANFORD SCHOOL

September 12 to 10 desprint	Innings	N	ot or	its	Runs	Hig	shest i	nns.	Average
J. A. Rowlett	. 16		2		562		86		40.14
P. W. Littman	. 16		3		222		36		17.07
tW. M. D. Wilson	. 16		0		264		64		16.50
P. B. C. Emby	. 14		3		118		43		10.72

Bowling	Overs	N	1aide	ns	Runs	Wicket	s	Average
R. L. Drake	84		17		222	 16		13.87
G. A. Milnes	116.1		5		481	 29		16.58
P. B. C. Emby	158.4		30		475	 19		25.00
G D Maundrell			11		321	12		26.75

CATERHAM SCHOOL

Batting									
Dittera	Innings	N	ot ou	its	Runs	Hig	hest in	ins.	Average
A. P. Hodgson			0		340		81		24.28
A. Bull			3		190		56*	-	17.27
R.D. Smith			3		182		60*		16.54
D. A. Harvey			0		195		68		13.92
A. B. Nash			Ŏ		156		36		11.14
D. B. Campbell			1		130		28		10.83
Bowling									
Milling	Overs	N	Taide	ns	Runs	1	Wicket	S	Average
A.P. Hodgson			50		474		46		10.30
D. B. Campbell			44		495		47		10.53
D. D. Campoen	. 175.4				.,,				

CHARTERHOUSE SCHOOL

Batting		NT			D	TTio	hoot in	 Average
	Innings	IN	ot ou	its	Runs	LIIS	hest in	
S.E. A. Kimmins	. 13		3		283		66	 28.30
N. R. Burt	. 6		0		132		77	 22.00
A. Kamm			0	- 1	250		99	 20.83
I.W. H. May			1		. 217		52	 18.08
I.M. Baker		100	1		207		48	 17.25
M.S. Scholfield			1		174		39	 14.50
D.H. G. Goodliffe			2		125		48*	 12.50

Bowling	Overs	N	//aide	ns	Runs	,	Vicket	s	Average
S.E. A. Kimmins	207.7		38		515		34		15.14
R.L. Jones			8		313		16		19.56
D.H. G. Goodliffe	58.3		9		206		10		20.60
J. K. Divett	91.3		21		311		14		22.21
M. S. Scholfield	86.3		10		295		10		29.50

CHELTENHAM COLLEGE

	Innings	N	ot ou	its	Runs	Hi	ghest in	nns.	Average
R. T. Procter	. 15		2		565		95		43.46
J.F. Tucker			4		350		122		38.88
Lister			1		437		102		33.61
B. Peskin			3		217		54		24.11
C. P. N. Swiney	. 12		1		212		42		19.27
D. M. Richards	. 11	• •	1		126		41		12.60

Bowling	Overs	Maidens	Runs	Wickets	Average
I.D. F. Alexander	198.2	59	576 672	33 .	. 17.45
D. E. L. Slater	222		685	35 ·	19.57

CHIGWELL SCHOOL

Batting						***			
	Innings	N	ot ou	its		Hig	hest in	ns.	Average
D.H. S. A. Anderson	14		1		251		81*		19.30
I.D. W. Brookes	15		2		215		66*		16.53
M. L. Phillips	15		2		170		42		13.07

Public	School	Cricket	in	1948
LULLC	DUILUUL	CITOLOGI		

Bo	wl	in	g
----	----	----	---

M. T. Dutte	Overs	V	1aide	ns	Runs	,	Wicket	S	Average
M. L. Phillips	177		36		497		36		13.80
D. H. S. A. Anderson	51.4		6		158		11		14.36
I. J. Deans	107.4		20		304		20		15.20
T. D. W. Brookes	53.4		7		198	122	12		
†A. B. Brooker	1163		13		450		25		16.50
	110.5		10		430		43		18.00

Batting CHRIST'S HOSPITAL

D B W Sill-	Innings	N	ot outs	Runs	Hi	ghest inns.	Average
D. R. W. Silk	. 11		1	497		101*	49.70
†M. K. D. Gunton			0	245		93	30.62
J. A. Bailey	. 6		1	95		72*	19.00
A. D. Pritchard	. 11		1,	170		49	17.00
J. R. Stephenson	. 10		0	163		40	16.30

Bowling

20 mang	Overs	Maide	ns	Runs	,	Wicket		Average
J. A. Bailey	87	35		169		27		6 25
A. D. Pritchard D. R. W. Silk	131	14		437		32		12 65
W. H. Stevens	119	26		292		11	::	26.54

Batting CITY OF LONDON SCHOOL

†D. Knowles	Innings 15 15	Not our 2 4	ts Runs 280 118	Highest inns 61* 24	Average 21.53 10.72
J. I. Metcalfe	Overs 100	Maiden 33	208	Wickets 35	Average 5.94
B. W. Cridland B. A. Shaddick M. W. Shrugen	43.3	13	148	18	8.22 9.38
M. W. Spruzen	1111./	16	283	29	9.75

Batting CLIFTON COLLEGE

	Innings	No	ot outs	Runs	His	hest i	nns.	Average
†T. S. Penny	. 13		0	260		50		20.00
D. B. Bird	. 14		1	243		54		18.69
J. A. Cooper	. 6		0	109		38		18.16
D. C. Dickinson	. 13		0	233	2000	91		17.92
R. V. Turner	. 13		0	169		45		13.00
R. K. Green	. 13		0	₂ 50		34		11.53

Bowling

	Overs	N	Maide	ns	Runs	,	Wicker	ts	Average
D. C. Dickinson	244.1		68		507		50		10.14
1. S. Penny	131.4		26		334		32		10.43
W. P. E. Lake	138.1		29		371		26		14.26

Batting CRANBROOK SCHOOL

	Innings	N	ot or	its	Runs	Hi	ghest in	nns.	Average
†J. D. J. Bluett	. 14		4	ALTY S	583		100*		58.30
P. W. Cochrane	. 14		1		337		50		25.92
R. I. Nye	. 14		0		307		83		21.92
B. B. Moore	14		0		197		66		14.07
P. W. A. Simmons	13	.:	1		143		34*		11.91
J. M. Cochrane	13		2		124		36*		11.27

Bowling	Overs	Ma	idens	Runs	7	Vicket	S	Average
J. M. Cochrane	233	5	4	579		43		13.46 14.46
A. R. C. Galpin	86.1	2	23	188		13		14.40
p W Cochrane	130	3	88	281		19		14.70

CRANLEIGH SCHOOL

Batting	Innings	No	ot ou	ts		Hig	hest in	ns.	Average 23.46
D. J. Lister	. 13	::	0	•••	305 206		78 39		22.88
S. G. de Clive-Lowe	. 13		2		230 232	::	67 *	::	19.33
T. R. Waller M. E. Keep			Ô		232		43		17.84

Bowling	Overs	Maide	ns	Runs	,	Wicket	s	Average 15.12
M. R. Fairbairns D. K. Stephen G. B. C. Jones D. I. Lister	90	34 26 22 23	::	499 329 228 288	<i>i</i>	19 11 13		17.31 20.72 22.15

CULFORD SCHOOL

J. R. Taylor D. A. Caruth		Not outs 2 2	Runs 203 190	Highest inns 45	Average 16.91 15.83
Bowling J. G. Shave M. J. Harrison †R. D. Robinson J. R. Warrell J. R. Taylor	139 54 90	177	Runs . 199 . 304 . 195 . 221 . 235	Wickets 26 25 16 17 18	Average 7.60 12.16 12.18 13.00 13.05

DEAN CLOSE SCHOOL

Batting	Innings	Not ou		Runs 313	Hig	hest in	ins.	Average 44.71
P. J. Leech P. A. Yeo		1		65		33		13.00
Bowling	Overs	Maide	ns	Runs	7	Wicket		Average 7.88
J. M. Oddy	56	10 11 18 10	::	142 203 143 162	::	18 18 11 10		11.28 13.00 16.20

DENSTONE COLLEGE

Batting	Innings	Not outs	Runs	Highest inns.	Average 27.60
†P. G. Whiteside M. B. Yeadon		2	276 159	134*	15.90
S. D. HignellV. B. Lee	. 11	0	143 102	28*	13.00 12.75

7	^	c
- /	1	15

Public School Cricket in 1948

Bowling	Public School Cricket in 1948 703
J. Oliver Overs 115.2 Maidens 25 Runs 275 Wickets Average 22 Average 12.50 P. G. Martyn 104.1 24 260 17 15.29 W. G. Tobias 49 4 183 11 16.63 B. Inions 116.3 26 297 15 19.80 C. T. McInerney 94 20 244 10 24.40	Bowling Overs Maidens Runs Wickets Average E. C. Craven 157.3 48 299 41 7.29 C. W. Thomson 69 8 276 24 11.50 M. W. Bell 108.3 27 275 20 13.75 †R. W. Smithson 70.1 11 246 11 22.36
Batting DOVER COLLEGE	EASTBOURNE COLLEGE
E. D. Cranford Innings Not outs Runs Highest inns. Average †J. M. Eames 11 0 178 40 16.18 D. R. Gilbert 11 0 178 40 16.18 P. D. Wingham 8 1 70 34 10.36	Batting Innings Not outs Runs Highest inns. Average †J. W. Wills 12 1 169 44 15.36 R. T. V. Brown 12 0 122 25 10.16
Bowling 8 1 70 40 10.00	Bowling Overs Maidens Runs Wickets Average
C. F. Horton Overs Maidens Runs Wickets Average J. M. Eames 87 10 201 37 . 11.91	P. F. Morgan
DOWNSIDE SCHOOL	ELTHAM COLLEGE
Datting	Batting
J. J. Doyle Hillings Not outs Runs Highest inns. Average J. A. Privett 13 1 415 102* 34.58 T. G. Meek 13 190 51 190.00 K. Wylie 13 1 147 42 12.25 †P. J. Denvir 9 0 107 71 11.88	B. J. McSweeney 11 0 120
Bowling	D. L. Howat 81.3 17 201 29 0.33 A. L. Burrows 77 16 185 24 7.70
M. F. Daly Overs Maidens Runs Wickets Average J. J. Doyle 150.4 45 528 31 17.03 P. J. Denvir. 95 19 343 11 3118	Batting EPSOM COLLEGE Innings Not outs Runs Highest inns. Average
Batting DULWICH COLLEGE	P. Bunday
M. H. Bushby. 15 2 518 100* 39.84 †W. M. Mitchell 15 0 461 92 30.73 J. J. H. Smith 15 0 398 94 26.53	†M. J. Williams 11 264 49 26.40 M. H. Richmond 11 1 235 85 23.50 J. S. Hall 11 1 126 52 14.00 W. O. Mavor 10 1 126
A. H. Evans 11 . 1 . 187 . 66 . 18.70	Bowling Overs Maidens Runs Wickets Average
Bowling	D. A. G. Eadie 115.2 14 21.29
J. L. Ames Overs 206 Maidens 206 Runs 589 Wickets 55 Average 10,70 W. M. Mitchell 221.1 23 739 50 14,78	K. A. Morrice
DURHAM SCHOOL	Batting Burns Highest inns Average
Batting	Innings Not outs Rulls Highest mins. 26.44
†R. W. Smithson Innings Not outs Runs Highest inns. Average W. L. Gatenby 11 2 321 75 35.66 M. W. Bell 12 0 227 72 20.63 J. R. Hamilton 11 1 182 44 18.83 J. R. Hamilton 11 1 182 45 18.20 E. C. Craven 12 3 142 50* 15.77 T. Bourn 10 0 106 35 10.60	S. D. D. Sainsbury 12 3 315 68 26.25 1. R. Lomax 12 0 355 99 25.35 †T. Hare 14 0 355 99 25.35 †T. Hare 2 301 57* 25.08 C. A. Impey 14 2 301 57* 25.08 J. D. K. Barnes 12 0 277 63 23.08 J. D. K. Barnes 12 1 228 62* 20.72 A. L. Lutyens 12 1 228 62* 20.72 C. E. A. Hambro 14 3 176 40 16.00 C. E. A. Hambro 12 2 134 58* 13.40 J. A. Bailey 12 2 115 32 12.77

Public	School	Cricket	in	1948
I MITTLE	School	CILLACI	ul	I

Bowling

The second secon	Overs	V	Taiden	IS	Runs	Wicket	8	Average
T. Hare	102.5		31		267			
J. IVI. IV. IVALIALI	ZUD. Z		4.1		640	26		01 -1
J. A. Dalley	109				354	11		0 = 00
J. S. Guthrie	136.3		37		420	 10		42.00

FRAMLINGHAM COLLEGE

	FRAIV
Batting	

	Innings	N	ot ou	its	Runs	His	hest in	nne	Average
†R. A. Quinlan	. 13	1	0		227		45	1110.	
D. A. Walton	15		ŏ	•••					17.46
E. W. Jermy	. 15		U		226		55		15.06
E. W. Jeilily	. 15		1		207		35*		14.78
G. C. Marshall	. 13		0		152		45		11.69
P. M. Markham	. 15		0		152	•••	30		
	. 10		J		134		30		10.13

Bowling

	Overs	Maidens			Runs	Wickets			Average
R. A. Quinlan	167		42	44.	347		41		8.46
G. A. Warner	205		53		528		45		11.73
D. C. Copeman	101		18		270		21		12.85
P. M. Markham	102		14		327		20		16.35

GIGGLESWICK SCHOOL

Batting

	Innings	ngs Not outs				His	hest i	Average	
M. V. Neal	. 10		4		153		86*		25.50
M. S. Davidson	. 11		1		135		34		13.50
J. Bowden	. 10		0		129		36		12.90
G. B. Nicholson	. 11		0		139		40		12.63
E. J. Atherton	. 11		0		118		23		10.72

Bowling

URUS *000	Overs	Overs Maidens			Runs Wickets				Average
M. Scales	127.3		37		321		31	1000	10 35
IVI. S. Davidson	194.3		71		429		34		12.61
W. Fell	54		8		192		11		
M. V. Neal	79.3		18		272		10		27.20

HAILEYBURY AND IMPERIAL SERVICE COLLEGE

Batting

	Innings	Not outs			Runs	Highest inns.			Average
J. H. V. Dicks	17				415		62*		
J. C. B. Letts	17		2		373		114		24.86
A. R. P. Wrathall	18		3		372		54*		24.80
V. F. Browne	18		1	1.0	280		35		16.47
A. D. G. Nicholas	10		1		136		43		15.11
†S. S. M. Monteath	20				274		40		14.42
F. M. Craven	14		0		169		34		12.07
M. E. Dark	18		2		188		29		11.75
The state of the s									

Bowling

	Overs	Maidens			Runs	Runs Wickets			
J. C. B. Letts	203		17		820		40		20.50
P. R. L. Jackson	176		47		564				20.88
V. F. Browne	147.3		18		529		19		27.84
A. R. P. Wrathall	77		3		342		10		34.20

HARROW SCHOOL

Batting	Innings	Not outs			Runs	Hi		Average	
A. S. Day	. 16		2		546		104	 39.00	
A. S. Day	10		1		239		41	 21.72	
T. A. Pigott			1		172		51	21.50	
A. Falcon	. 12		7				59*	 18.90	
R. G. Marlar	. 13		4		208			 20,,,	
A. A. Persse			1		127	• •	59*	 18.14	

Bowling	Overs	N	/aide	ns	Runs	Wicket	ts	Average
R. A. Jacques	194.2		41		475	 34	• • •	13.97
R. G. Marlar	275.1 69		59	• •	769 224	 40	••	19.22 20.36
A. Falcon	100		19		425	 16		26.56

HIGHGATE SCHOOL

Batting	Innings	Not	outs	Runs	Hig	hest in	ns.	Average
†R. D. Owen	. 15		1	388		103*		27.71
W. Knightley Smith			1	315		. 74		22.50
J. A. P. Salter		J. J. J.	1	274		44		19.57
W. H. Cooper			0	257		72		17.13
M. W. G. Pryke			1	161		44*		13.41
D. H. K. Rata		2100	5	126		26		12.60
F. D. Rees-Evans			3	111		17		12.33
J. G. Cruickshank	. 52		1	140		30		10.00

Bowling	Overs	I	Maide	ns	Runs	,	Wicket	s	Average
J. C. Dare	33.2		11		47		10		4.70
T. C. Dodds	238.4		105		312		35		
D. H. K. Rata	296.5		82		637		60		10.61

HURSTPIERPOINT COLLEGE

K. R. Jenkin †G. M. Pitcher P. A. English	Innings 14 16 16	Not outs 0 2 1	Runs 303 236 151	Highest inns 58	Average 21.64 16.85 10.06
Bowling P. K. Ephraimson K. R. Jenkin P. A. English	162	Maidens 42	Runs 365 456 317	Wickets 44 46 15	Average 8.29 9.91 21.13

KING'S COLLEGE SCHOOL, WIMBLEDON

Batting						DMI	A .		
Int	nings	No	ot ou	ts	Runs	Hig	hest in	ıns.	
K. T. W. Ambler	9		7		93		25*		46.50
R.H. Rham	9		2		160		73*		22.85
M. Curry	10		0		151		45		15.10
J. Wood	10		0		145		41		14.50

Public	School	Cricket	in	1948
1 uone	Denoor	Citchet	LIL	1710

Bowling					
T T TY 4 11	Overs	Maidens	Runs	Wickets	Average
K. T. W. Ambler	87	17	288	15	19.20
J. Timberlake	136.1	24	459	22	20.86

KING EDWARD'S SCHOOL, BIRMINGHAM

	Innings	N	ot or	its	Runs	Hig	hest i	nns	Average
J. G. Harrison	. 17		0		377		58		22.17
†J. G. Pardoe	. 17						73		17.76
A. J. Homer			1		257		51		16.06
B. C. Hobbs	17		Ô	•	180		59		
P. Hutchings	17	• •	3		143				10.58
1. 11dtcimigs			3		143		35		10.21

					115		33		10.21
Bowling									
	Overs	N	Taide	ns	Runs	,	Wicke	te	Average
P. Hutchings	167.1		42		415		36		11.52
J. A. M. Harrod	195.2		40		493		40		12.32
B. Lobb	148		36		379		22		17.22
J. G. Pardoe	101	•••			334		18		
v. O. 1 and ou	101		21		334		10		18.55

KING EDWARD'S SCHOOL, STOURBRIDGE

0	104	Highest inns.	
	184 .	. 56	18.40
2	183 .	. 58*	18.30
0	114	36	10.36
	2	2 183 .	0 184 56 2 183 58* 0 114 36

Bowling								
	Overs	N	Iaide	ns	Runs	Wicke	ts	Average
S. G. Keene	41.2		9		96	20		4.80
B. F. Fieldhouse	44.2		10		105	19		5.52
†T. B. Vaughan	71		22		114	15	print	7.60
S. E. Tromans	85		22		138	18		7.66
E. Barrett	56		19		114	 10		11.40

KING'S SCHOOL, BRUTON

Batting		- MIN 1997				
All and the same of the same o	Innings	Not outs	Runs	Highest	inns.	Average
†J. M. Bordass	. 10	0	221	42	100	22.10
P. R. Wilkinson	9	3	111	46		18.50
J. T. Davies	. 10	0	177	83		17.70
W. A. H. Ewing	. 10	1	141	60		15.66
J. A. L. Sturrock	. 10	0	141	50		14.10
Bowling						
	Overs	Maidens	Runs	Wicke	ets	Average
P. R. Wilkinson	91	19	244	18		13.55
J. M. Gyles		28	344	21		16.38
J. M. Bordass	148.4	43	384	23		16.69

KING'S SCHOOL, CANTERBURY

Batting	Contain.								
	Innings	N	ot ou	ts	Runs	Hig	ghest in	nns.	Average
P. J. Walker	. 12		0		247		41		20.58
I. F. Black	. 10		2		112		33*		14.00
†J. H. Pegg					163		46		13.58

Bowling	Overs	N	Taide	ns	Runs	Wicket	Average	
I. F. Black	149.1 148		31 21	::	419 450	 41 23	 10.21 19.56	

KING'S SCHOOL, ELY

Batting	Innings	No	ot or	ıts	Runs	Hig	hest in	ıns.	Average	
M. R. Tett. J. N. Wagstaff G. B. Tomalin †T. P. J. Dyke W. K. R. Watson P. Leach	15 15 11		1 1 4 2 3 1	::	354 243 187 199 106 116		62* 30 32* 44* 20 22		23.60 20.25 17.00 15.30 13.25 10.54	
Bowling	Overs	M	Iaide	ens	Runs 425		Wicket	s	Average 7.20	

T.P. J. Dyke 290 47 425 59 7.20 D. J. O. Reynolds 227 30 319 31 10.29 W. K. R. Watson 107 15 151 13 11.16 G. B. Tomalin 73 12 162 10 16.20

KING'S SCHOOL, ROCHESTER

P. G. Bradley J. M. Cook W. F. A. Buck H. K. Moller	13	N 	ot ou 3 0 0 2	ts	Runs 327 324 220 136	Hig	58 102 60 30	ins.	Average 32.70 24.92 16.92 12.36
Bowling	Overs	N	Iaide	ns	Runs	,	Wicket	S	Average 11.34
J. M. Cook B. J. Cook C. A. Snell P. G. Bradley	. 109.1		45 28 15 13		465 330 286 258		41 27 21 18		12.22 13.61 14.33

KINGSWOOD SCHOOL, BATH

	30110								
Batting	Innings	No	ot ou	ts	Runs	Hig	hest in	ns.	Average
127 ** - 44		111	2		229		75*		28.62
†N. H. Bellis			4		The second secon				19.70
R. Wilkinson	. 11		1		197		62		
M. J. Shepherd	11		2		193		56*		21.44
I W M		-	ō		110		28		15.71
J. W. Mundin			1		158		39*		14.36
J. P. Jenkins	. 12		1						13.81
K. J. Brown	. 11	91.55	0		152		47		13.01
THE PROPERTY OF THE PARTY OF TH	LDS STORY								

Bowling	Overs	N	1aide	ns	Runs		Wicket	S	Average
N. H. Bellis R. Wilkinson	131.9		52 10		246 121		45 19		5.46
W. B. Peeling	52.4 74.3		10 23		162 173	::	13	::	12.46 14.42

Ratting

Batting

Ratting

Public	School	Cricket	in	1948
rubuc	SCHOOL	Citchet	u	1710

709

LANCING (COLLEGE
-----------	---------

Datting									
R. A. Naylor	Innings 12		outs 0	Runs 270	Hig	shest in 80	ins.	Average 22.50	
†P. M. H. Robinson D. A. Swales	12		0	256 242	• • •	49 75		21.33 20.16	
I. W. Jenkins C. K. Bushe	12 12		0	208 205	::	58 60	::	17.33 17.08	
Bowling									
tP. M. H. Robinson	Overs	Mai	dens	Runs	1	Wickets	s	Average	

TP. M. H. Robinson	230	 53	577		51		11 31
M. A. C. Lyon	72	12	215		12		17.05
C. K. Bushe	38	1	231	• • •	12		10.95
M. J. Dolbear	10	 1	 100		10		19.25
D A Swales	70	 -	 190		10	• •	19.80
D. A. Swales	10	 3	 299		14		21.35

LEEDS GRAMMAR SCHOOL

ID M. T.	Innings	Not outs	Runs	Highest inns.	Average
†R. N. Lewis	. 16	0	446	110	27.87
E. D. Butterworth	15	7	221	50*	27.62
D Wetleinson	16				
D. Watkinson	16	0	205	53	12.81
S. G. Metcalfe	16	0	176	41	11.00
			110		11.00
Bowling					
	Overs	Maidens	Runs	Wickets	Average
K. Howard	171	45	360		
D W di	1/1			41	8.78
D. Watkinson	129	35	328	28	11.71
M. Whimster	127	26	310	24	12.91
D. B. Hufton	70	20			
D. D. Hulloll	76	4	275	20	13.75

LEIGHTON PARK SCHOOL

Zutting	Innings	N	ot ou	its	Runs	Hi	ghest i	nns.	Average
N. L. Alderson	. 14		1		413		104		31.76
D. I. Hamilton J. H. Talbot	. 13	••	0	• •	197	• •	36	••	14.07
						3		e pithia	

DOWING								
	Overs	N	Taide	ns	Runs	Wicke	ts	Average
R. W. Morford	154	1	28		360	35		10.28
R. W. Sherborne	93.5		11		325	29		11.20
J. Roffey	115		29		323	21		15.38
D. I. Hamilton	131		30		401	 23		17.43

THE LEYS SCHOOL

Batting									
	Innings	N	ot ou	its	Runs	Hig	hest in	nns.	Average
†R. M. Walker	. 14		1		349		76*		26.84
D. E. Terry	. 14		0		222		32		15.85
I. S. Governor	. 12		1		160		41		14.54
I. I. Gaston	. 15		3		169		54		14.08
J. E. Nisbet	. 12		1		142		44		12.90
D. K. Fairweather			1		166		68	100	12.76
J. C. Blore			Ô		136		46		11.33
R. G. Owain-Jones	. 12		1		115		40		10.45

Bowling	Overs	N	Iaide	ns	Runs	1	Wicket	s	Average		
R. M. Walker	29		2		109		10		10.90		
I. T. Craig	159.5		40		355		25		14.20		
J. E. Nisbet	135		33		388		21		18.47 23.00		
J. L. Davies	104		15		322		14		25.93		
I. S. Governor	135.5		21		415	••	10	••	23.93		

MALVERN COLLEGE

Batting	Innings	N	ot ou	ts	Runs	Hig	hest in	nns.	Average 32.08
J. S. V. Davy	. 13		1 4		385 118	::	167		19.66
0. G. P. Nash	. 13		1 3	•••	222 166		69 47	::	18.50 18.44
R. H. Chadder J. M. Bolam	. 12		0		205 215		59 42	• •	17.08 16.53
A. A. Gregory	. 13		U		213	••			
Damling									

Bowling	Overs	N	I aide	ns	Runs	1	Wicket	s	Average
T. J. F. Herold	82.3		9		332		14		23.71
†G. P. R. Esdale			29		756		23		32.86
O. G. P. Nash	160.4		21		635		18	.,	35.27

MARLBOROUGH COLLEGE

Batting	Innings	No	ot ou	ts	Runs	Hig	hest in	nns.	Average
P. J. Ellwood T. G. Abell P. F. Worlidge J. R. L. Hill D. I. Aitken †D. M. Savill	. 13 . 6 . 8 . 12		1 0 0 1 0 0	::	321 344 136 128 177 157	::	78 77 56 50 62 56	::	26.75 26.46 22.66 18.28 14.75 12.07

Bowling	Overs	N	1aide	ns	Runs	,	Wicket	s	Average
J. A. Tyzack	103.5		23		283		20		14.15 15.50
R. A. Barnes	145.3		23		403		26		16.85
J. A. Burnett	105.5		25		354		21		23.36
W. J. Pinney	104		27		257		11		23.30

MERCHANT TAYLORS' SCHOOL

Batting †D. G. S. Baker J. G. Banwell J. G. K. Ingram F. I. Lee	Innings 10 8 10 10	Not of 1 3 2 0	outs	Runs 299 131 166 188	Highest inns 105*	Average 33.22 26.20 20.75 18.80
Bowling P. H. Sims J. G. K. Ingram R. M. Barclay	Overs 117.1 69 145	Maid 24 17 31		Runs 312 157 401	Wickets 26 13 25	Average 12.00 12.07 16.04

Batting

Public School Cric	cket in	1948
--------------------	---------	------

MILL HILL SCHOOL

Batting		and the state of	1		
A. W. Fenn †M. H. C. Meggitt. J. E. C. Dicks E. W. Brenchley J. Roberts Bowling	11 11 10	Not outs 0 0 1 2 0	Runs 227 187 152 121 126	Highest inns 66 43 37 29* 48	Average 20.63 17.00 15.20 15.12 11.45
S. R. Samuels A. W. Ramsay J. Roberts	Overs 108 87 104.1	Maidens 28 22 16	Runs 245 237 315	Wickets 21 19 19	Average 11.66 12.47 16.57

MOUNT ST. MARY'S COLLEGE

T. Bateson	- 11	3	176	Highest inns 55*	22.00
Bowling					
J. Veys	Overs 88 116	Maidens 18	Runs 247 311	Wickets 22 15	Average 11.22 20.73

NEWCASTLE ROYAL GRAMMAR SCHOOL

	Innings	N	ot ou	its	Runs	His	hest in	nns.	Average
R. I. Harrison	. 12		2		205	E Y	52		20.50
D. R. Lowther	. 12		0		210		84		17.50
P. B. Reeve	. 11		0		172		63		15.63
J. S. Hall	. 11		2		140		53*		15.55
P. E. Forster	. 11		1		133		53		13.30

Bowling									
	Overs	N	Taide	ns	Runs		Wicke	ts	Average
C. Lewis	64	1	19		139		12	100	11.58
D. R. Reid	139		34		332		28		11.85
I. H. M. Veitch	60		11		195	7	11		

OAKHAM SCHOOL

Batting	OTHE		, I	CII	OOL				
B. H. Banister. †C. W. Bastow P. F. Willis P. J. Derry	. 14	::	ot ou	 	Runs 389 384 225	Hig	83 92 82*	nns.	Average 29.92 29.54 25.00 18.12
R. D. Green	. 11	::	ő	::	145 167		38* 49		15.18

Bowling								Relie II
Market Attached	Overs	N	1aide	ns	Runs	Wicket	ts	Average
J. Lambert	102.5		17		243	 20		12.15
P. R. Forman	156		27		493	24		20.54
R. A. Isaac	106		17		286	 13		22.00

OUNDLE SCHOOL

Batting C. J. Swan C. M. Coleman Smith J. S. Haines J. P. Ashworth	10	No	ot outs 0 1 1 2	3 	Runs 263 219 135 133	Hig	83 55 71* 42	nns.	Average 26.30 24.33 19.28 13.30
Bowling M. P. Brooks W. A. Beaumont C. J. Swan	51	 	aidens 16 14 36	· · · · · · · · · · · · · · · · · · ·	Runs 110 141 361		Wicket 11 13 13	s	Average 10.00 10.84 27.76

PERSE SCHOOL

B.S. Adams	15	Not	outs 3 0 0 2	Runs 313 331 212 130	Hig	75* 61 66 36*	ins	Average 24.07 22.06 13.25 11.81
P. W. Gooden P. L. Elliott S. Woolston D. J. Cottrell	. 166.3	5	idens 8 6 8	Runs 380 345 160 149		Wicket 50 44 16 11	s 	Average 7.60 7.84 10.00 13.54

RADLEY COLLEGE

Datting									
	Innings	N	ot ou	ts	Runs	H19	hest int	ıs.	Average
M. J. D. Bower	13		2		788		207*		71.63
D. B. Reid	12		2		235		61		23.50
A. S. J. Riley	13		1		219		56		18.25
A. J. Finch	10		3		102		31*		14.57
H. B. L. Brierly	10		2		109		41		13.62
D. H. Andrews	12		1		144		32		13.09
M. J. Yates	12		1		124		38		11.27
J. W. R. Armstrong	11		Ô		115		24		10.45
Bowling									
, and the same of	Overs	M.	Laide	ns	Runs	1	Wickets		Average

bouning	Overs	N	/aide	ns	Runs	,	Wicket	S	Average
J. W. R. Armstrong	199.4		80		345		40		8.62
A. S. J. Rilev	97		20		277		24		11.54
K. M. Sorsbie	194.4		60		365		31		11.77
M. J. D. Bower	208.4		58		513		40		12.82
A. J. Finch	54		9		138		10		13.80

READING SCHOOL

Datting	Innings	N	ot ou	its	Runs	Hig	hest in	nns.	Average
J. C. Rudd	. 12		0	,	214 174		80 69		17.83 15.81
†W. K. C. Morgan P. Batten	1)		0		172		50		14.33
B. M. S. W. Emery	. 11		0		116		45		10.53

Public	School	Cricket	in	1948
I would	Denout	Ciunci	un	IJT

Bo	wl	in	g
~ 0			-

	Overs	Overs Maidens Runs				Wickets	Average
W. K. C. Morgan	188		57		456	 39	11.69
K. G. S. Palmer	102.1		27		250	 21	
J. C. Rudd	55.1		8		160	 13	
M. Bourne	92		13		332	 18	

REPTON SCHOOL

Batting

	Innings	Not outs			Runs	His	hest ir	Average	
A. C. W. Lewis	. 14		1		342		59		26.30
R. W. Palfreyman	. 14		1		283		89		21.76
M. F. H. Twigg	. 14		0		257	1	75		18.35
D. R. Guthrie	. 9		2		126		42*		18.00
J. Corn	. 12		2	1	168		37		16.80
†W. A. S. Wesson	. 14		0	379 535	222		90		15.85
A. N. Gordon	. 13		1		189		47*		15.75
D. H. Popham	. 7		1		94		44	• • •	15.66
I. H. C. Cory	. 11				66				11.00

Bowling

•	Overs				Wickets	Average
R. D. Bailey	185	46	. 482	2	39	12.35
A. C. W. Lewis	120	18	. 330	5	22	15.27
†W. A. S. Wesson	121	28	. 329		20	16.45
D. R. Guthrie	150	29			24	

ROSSALL SCHOOL

Batting

	Innings	N	ot ou	its	Runs	Hi	ghest in	nns.	Average
J. M. Phillips	. 15		2		458		106		35.23
K. V. Holmes	. 12		2		273		62		27.30
M. G. Corkill			4		142		31*		15.77
M. J. M. Collinge	. 12		0		186		41		15.50
I. A. Rhodes	. 15		1		216		49		15.43
G. L. Wilkinson	. 15		0		159		50		10.60
G. P. Marsland	. 14		1		137		39		10.53

Bowling

A STATE OF THE STA	Overs	N	Maide	ns	Runs	Wicke	ts	Average
J. M. P. Abbatt	96.5		14		304	 24		12.66
†J. A. Carter	234.1		72		559	 41		13.63
G. P. Marsland	152.3		40		405	 24		16.87

RUGBY SCHOOL

Batting

	Innings	N	ot or	its	Runs	Highest inns.			Average
W. R. Mason	. 16		1		378		63		25.20
D. R. Wright	. 17		0		381		48		22.41
J. J. Gardner	. 17		2		218		53		14.53
I. R. Eiloart	. 11		0		155		56		14.09
†A. McL. Macdonald			2		166		37		13.83
O. R. S. Bull	. 13		4		118		23		13.11

Bowling

· 自然的现在分词 自然的 医切迹 医一种	Overs	Taide	ns	Runs	,	Wicket	Averag	
O. R. S. Bull	188.3	 64		350		33		10.60
J. E. Robinson	240.2	 69	1	531		43		12.34
D. R. Wright				294		18		16.33
A. McL. Macdonald				380		17		22.35

RYDAL SCHOOL

Batting	Innings	N	Not outs		Runs	Hi	ghest inns	s.	Average	
D. Stewart	. 17		1		645		136* .		40.31	
†B. J. Wilson	. 16		2		374		66* .		26.71	
W. G. Beckett	. 17		2		272		64 .		18.13	
P. Ibbitson			2		220		45* .		15.71	
A. J. Lord			1		185		53		12.33	
J. M. Howorth			1		173		56 .		11.53	

Bowling Overs Maidens Runs Wickets Average P.W. Hughes 147.5 35 377 28 13.46 I.G. Bailey 181.1 18 574 33 17.39 A.J. Lord 218 43 644 36 17.88 W. G. Beckett 141 25 439 12 36.58

ST. ALBANS SCHOOL

Batting	Innings	N	ot ou	its	Runs	Hig	ghest in	nns.	Average
M. G. Smith	. 11		3		386				48.25
fR. E. Ashworth	. 11		3		206		37		25.75
P. R. Stanhope	. 9		0		147		56		16.33

Bowling

n 110 --

	Overs	Overs Maidens			Runs	-	Wicket	Average	
D. J. George	99.2		26		240		23		10.43
R.E. Ashworth	92.4		22		234		22		10.63
H.A. F. Malden	91.4		23		240		15		16.00

ST. BEES SCHOOL

Batting	Innings	N	ot ou	its	Runs	His	ghest i	nns.	Average
D. R. W. Hartley	. 14		1	-	242		100*		18.61
P.G. A. Bloomer	. 14		0		200		75		14.28
†M. E. Thompson	. 13				175		65		13.46

Bowling

	Overs	N	Taide:	ns	Runs	Wicket	Average	
B. J. T. Brothers	65		15		205	 24		8.54
S. P. Hayek	92.4		19	-	259	 24		10.79
J.J. H. Swinglehurst	81		13		223	 18		12.38
J.C. Fecitt			19		200	 16		12.50

ST. DUNSTAN'S COLLEGE

Batting

	Innings	N	ot ou	its	Runs	Hig	hest in	Average		
F.W. Hankins	. 15		0		357		113		23.80	
U.P. Thomas	. 17		2		196		41	. 70	13.06	
b. F. Akery	. 17		4		166		38		12.92	
J. J. Crawford	. 14		2		136		23		11.33	
R. J. Edwards	. 14		1		139		44		10.69	

Bowling

9	Overs	N	Maide	ns	Runs	Wicket	Average	
R.J. Edwards	196.4		:59		459	 51		9.00
A. Pierce	187.4		47		461	 50		9.22
B.F. Akery	78.6		24		188	 19		9.89

Public	School	Cricket	in	1948
1 uonc	School	Cricker	in	1740

Maidens

Overs

715

Average

Wickets

ST. EDWARD'S SCHOOL, OXFORD

Batting B1. ED	WAILD	5	SCI	100	L, O	Aru	KD		
P. H. Russell-Smith	Innings 9		ot ou		Runs 138	Hig	hest in	nns.	Average 17.25
P. R. Shortt D. S. Gilbert-Smith	. 10				145 159		33 73		14.50
C. R. H. Sweeney †D. B. T. Lattey	12		1		143		32		13.25
Powling	12	••	,		116	••	29		10.54

Bowling

	Overs Maidens			Runs Wickets				Average	
J. S. Smith	83.4		8	4	307		19		16.15
C. R. H. Sweeney	111.1		9	3	428		20		21.40
D. B. T. Lattey	99		19		315		14		22.50
S. Powell			22		337		13		25.92
D. P. Brown	105.4		23		344		13		26.46

ST. JOHN'S SCHOOL, LEATHERHEAD

Batting

	Innings	nings Not outs				Hig	hest i	Average	
†J. W. Osborn	. 14		1		331		60		25.46
R. K. L. P. Smith	. 14		0		241	11	48		17.21
M. Walton	. 11		1		121		23	2000	12.10
D. W. Adams	. 14		2		126		31		10.50

Bowling

	Overs	Runs	Average				
E. A. Ll. Morgan	181.1	 57		396	 38		10.42
D. W. Adams	147.4	 36		320	 29		11.03
J. W. Osborn	137.5	 26		336	 30		11.20
J. Vallins	70	 8		224	 15		14.93

ST. PAUL'S SCHOOL

Batting								
	Innings	N	ot ou	its	Runs	His	shest inns.	Average
A. B. Barter	. 17		2		284		50*	18.93
†C. J. Godfrey	. 17		1		274		65*	17.12
A. R. Jay	. 15				244		58	16.26
W. B. Atkinson	. 17	1	1		232		60*	14.50
D. T. Mills	. 15		2		173		48	13.30
C. E. S. Gold	. 17		0		203		26	11.94

Bowling

and a series	Overs Maidens				Runs	Average		
A. B. Barter	169		17		578	 34		17.00
D. A. S. Blacklaw					391	20		19.55
A. R. Jay	63		8		223	 11		20.27
D. T. Mills	110		19		339	 14		24.21
C. J. Godfrey	121		23		382	 11		34.72

ST. PETER'S SCHOOL, YORK

Batting

Butting	Innings	N	ot ou	its	Runs	Hig	hest i	nns.	Average
†M. Speight	. 16		2		398		75		28.42
R. Parker	. 16		1		378		95		25.20
E. D. Thornton	. 16		0		251		55		15.68
J. C. Griffiths	. 16		0		202		48		12.62

SEDBERGH SCHOOL

M. Speight	123	 17	 414		34	 12.17
D. Walter			436		31	 14.06
N. M. Hodd	84	 5	 335		22	 15.22
C. Dryden	145.2	 27	 419	11.	27	 15.51
W. Graham	73.2	 17	 216		10	 21.60

Batting	Innings	N	ot ou	ts	Runs	His	hest in	ns.	Average
R. H. Umbers	. 10		0		187		57		18.70
W. B. Moralee	. 9		1.		128		32		16.00
†N. E. Umbers	. 10		1		124		29		13.77

Bowling

Bowling

	Overs	N	Maide	ns	Runs	Wicke	ts	Average
N. E. Umbers	28		3		75	 9		8.33
P. G. H. Younie								
T. A. Good	82.2		22		210	 14		15.00

SEVENOAKS SCHOOL

Batting	T	T-4	4-	D	TT:-	1		A
P. Prodger	 11111111111111111111111111111111111111	 Not of	its 	378	Hig	89*	ins.	Average 34.36

Bowling

	Overs	N	Taide	ns	Runs	1	Wicke:	ts	Average
R. G. Russell	144		50		283		30		9.43
P. Prodger	84		13		256		26		9.84
A. Hillier	38		9		100		10		10.00
I. F. Carmichael	114		19		321		18		17.83

SHERBORNE SCHOOL

Batting

	Innings	N	ot out	ts	Runs	Hi	ghest in	ıns.	Average
R. M. Skinner	13	1	3		354		98		35.40
D. I. Ulliespie	X		0		219		72		27.37
I.M. Anderton	12		1		294		113		26.72
M. W. Pailthorne	11		2		230		60		25.55
D. S. Wrinch	13		3		252		55		25.20
D. M. Hirner	10		1		206		56*		22.88
W. S. Blackshaw	10	1	0		201		54		20.10

Bowling

D. C	Overs	N	Iaide	ns	Runs	Wicket	s	Average
D. C. P. R. Jowett	201.3		44		519	 44		11.79
D. M. Hirner	145 3		35		314	 25		12.56
J. N. NOTTIS	1175		25		363	23		15.77
R. M. Skinner	70		17		208	 11		18.90

Public School C	Cricket	in	1948
-----------------	---------	----	------

Batting	SHREWSBURY S	CHOOL	Bowling	Bowling
A. W. Morris J. Clegg M. T. Robinson †D. L. Shaw J. C. Walker A. G. Phillips A. B. Bennett S. A. Barr N. B. Williams J. H. G. Ducksbury	10 4 17 1 14 3 16 2 15 1 16 4 17 1	Runs Highest inns. 372	Average 28.61 22.66 21.31 19.63 18.85 18.50 17.75 16.31 15.00 12.93	B. M. Rooney C. E. Shepherd P. E. Kelly B. A. Rhodes Batting D. E. Conington D. A. Connell C. H. Bradly J. F. Conington
Bowling	Overs Maidens	Runs Wickets	Average	0. B. Sayer
M. T. Robinson A. B. Bennett J. Clegg A. G. Phillips N. B. Williams	271.2 73 144 31 148 24 110 13	653	13.32 14.64 15.36 16.64 18.60	M.D. Cobham. W.R. G. Short D.A. Connell C.C. McNeil
Batting	SOLIHULL SC	HOOL		Potting SU
J. E. Sreeves	13 3	Runs Highest inns. 399	Average 33.25 30.90 18.00 16.80	Batting K.C. Goodwin A.F. Tipples S.H. Harrison
Bowling	0	toniani.	and selled	Bowling
J. E. Sreeves P. G. M. Sperry C. D. Piggins †B. W. Balls	37.1 8 135 36	Runs Wickets 373 35 114 9 276 21 245 18	Average 10.65 12.66 13.14 13.61	M. A. Whittaker M. C. Parnell W. S. Mongomerie A. F. Tipples
Batting	STAMFORD SCI	HOOL	120 (2010)	Batting
M. J. K. Smith W. R. Burchnall D. L. Gilbert G. S. Hopper	15 0	Runs Highest inns. 310 61 272 43 203 46 196 54	Average 20.66 18.13 13.53 13.06	tL.K. Lewis G.M. MacLennan D.C. Suter J.C. White M.J. Points
Bowling	Not only sking	agricult.	Salara.	Bowling
D. G. Wood P. R. H. Bacon V. F. C. Peck T. J. Guffick	188.1 56	Runs Wickets 114 . 14 444 . 39 641 . 55 212 . 15	Average 8.14 11.38 11.65 14.13	P.H. Dale F.R. Cummings L.K. Lewis
Batting	STONYHURST CO	OLLEGE		Batting
P. J. Leyden T. R. Keeble †C. E. Shepherd G. F. Manning A. M. Wilson B. A. Rhodes	14 1 14 0 10 1	Runs Highest inns. 321 . 88* . 399 . 100 . 307 . 61 . 170 . 50 . 232 . 51* . 125 . 36 .	Average 45.85 30.69 21.92 18.88 17.84 11.36	M. C. Cowdrey J. R. Sambrook M. J. Bickmore M. W. Ford R. E. Herman J. H. Eckersley

Bowling											
DOLLING	Overs	Maidens	Runs	Wickets	Average						
B.M. Rooney	93	31	216 351	26	8.30 8.77						
C.E. Shepherd	169.4 102	52	242	40	13.44						
P.E. Kelly B.A. Rhodes	110.4	24	282	19	14.84						
B, A. Khodes											
STOWE SCHOOL											
	Innings	Not outs	Runs	Highest inns.	Average 27.88						
D.E. Conington	11	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	251 249	64	27.66						
D. A. Connell	11	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	223	59*	22.30						
I.F. Conington	11	1	189	44	18.90 17.42						
0. B. Sayer	9	2	122	34*	17.42						
Bowling											
	Overs	Maidens	Runs 508	Wickets 36	Average 14.11						
M.D. Cobham	197 69	35	205	36	15.76						
W. R. G. Short		25	327	20	16.35						
C.C. McNeil	77	3	327	18	18.16						
SUT	TON V	VALENCE	SCHO	OL							
Batting				Highest inns.	Average						
K.C. Goodwin	Innings 9	Not outs 2	Runs 115	26*	16.42						
A. F. Tipples	40	0	128	41	12.80						
S.H. Harrison		0	110	55	12.22						
Bowling											
Militia	Overs	Maidens	Runs	Wickets	Average						
M. A. Whittaker	59.1	19	140 208	13	10.76 10.94						
M. C. Parnell		14	182	19	16.54						
W. S. Mongomerie A. F. Tipples	00 =	14	328	19	17.26						
		TON SCH	HOOL								
Batting				III: about inno	Average						
4 IV Ii-	Innings 13	Not outs 1	Runs 647	Highest inns 186	53.91						
L. K. Lewis		2	293	68	26.63						
D. C. Suter	11	2	181	66* 24*	20.11 15.85						
C. White		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	111 152	24*	15.20						
M. J. Points	12	. 2	132								
Bowling		/ > 6 . 1	D	Wielrote	Average						
DH Dele	Overs 118	Maidens 33	Runs 275	Wickets 28	9.82						
F.R. Cummings		28	257	25	10.28						
K. Lewis		25	293	17	17.23						
A THE	TONRI	RIDGE SC	HOOL								
Batting					Average						
	Innings	Not outs	Runs 460	Highest inns 86	30.66						
M. C. Cowdrey J. R. Sambrook		3	389	73	27.77						
M. J. Bickmore	. 15	2	336	78	25.84 18.69						
M. W. Ford	. 15	2	243 239	102	14.93						
R. E. Herman J. H. Eckersley	. 17	: 1 ::	142	43	10.14						
The Leading					Z						

	4	α
- /		v
- /	1	-

B	n	w	li	n	o
	v				~

M. C. Cowdrey R. T. Hancock M. J. Bickmore P. H. Wood-Smith J. R. Sambrook	109.4 179.1	 1aide 25 29 41 33 23	ns 	Runs 633 298 399 432 288	 Wickets 47 20 20 20	 Average 13.46 14.60 19.95 21.60	
o. R. Samorook	109	 23		288	 12	 24.00	

TRENT COLLEGE

N. Armstrong 11 0 269 62 24.45 P. Senjor Smith 12 0 201 45 18.77	Batting	IRE	NI COLL	EGE		
TP. M. Burgess 12 0 194 70 15.50	F. Smit. J. B. Blundell N. Armstrong P. Senior-Smith †P. M. Burgess	. 12 . 12 . 11 . 12	Not outs31000	286 269 201 186 184	71 62 45	Average 31.77 24.45 18.27 15.50 15.33

Bowling

P. Senior-Smith	Overs	N	Taide	ns	Runs		Wicket	S	Average
B. Nicholson	164		11		291		31		9.38
P. S. Field	109		45		327 350		25		13.08
L. Harpham	96		9		296	• • •	11	::	19.44 26.90

UNIVERSITY COLLEGE SCHOOL

Batting

I K E Shak	Innings	Not	outs	Runs	Hig	hest in	nns.	Average
J. K. E. Slack J. E. Barrett	. 11]		230		76		23.00
A. J. Drew	. 11	1		-129		45		12.90

Bowling

I V E Sleels	Overs	N	Taide	ns	Runs	,	Wicket	S	Average
J. K. E. Slack E. Clarke	99.3		19		269		31		8.67
R. J. Lyon	96		15		124		12		10.33
†B. J. Castor	80		15		252		17		14.82

UPPINGHAM SCHOOL

Batting

IMP	Innings	N	ot ou	its	Runs	Hig	hest i	Average	
J. M. Barker	. 16		1		386		87		25.73
†T. A. Hall	. 12		0		220		59		18.33
C. J. B. Leader	. 16		2		253		57		18.07
I. R. Corness	. 16		1		254		44		16.93
W. J. Corner	. 16		0		240		36		15.00

Bowling

	Overs	N	Laide	ns	Runs	Wicket	S	Average
†T. A. Hall	186.5		51		395	 35		11.28
C. M. Dennis	253.4		80		534	 46		11.60
C. Barrow	49		13		130	 10		13.00
C. A. M. O'Hagan	142.3		45		366	 27		13.55

WELLINGBOROUGH SCHOOL

Batting †E. J. Belton A. F. Teesdale R. N. E. Bates H. M. Denton A. G. S. Pattinson	. 12 . 9 . 12	N 	ot ou 2 1 1 1 2	ts	Runs 402 242 150 204 144	Hig	thest in 63* 53 37 54 32	nns.	Average 36.54 22.00 18.75 18.54 16.00	
A. G. S. Pattinson			2							

Bowling	Overs	N	Taide	ns	Runs	1	Vicket	S	Average
E. J. Belton			58		471		45		10.46
T. A. Jeffries	91		30		175		15		11.66 16.09
H. M. Denton			17	••	338		20	••	17.15
D McNicoll	138		21		343		20		17.13

WELLINGTON COLLEGE

Batting									
Datting	Innings	N	ot ou	ts	Runs	Hig	hest in	ns.	Average
R. O'Brien			0		387		63		27.64
P. M. James			0		368		73		24.53
R. H. Chappell			0		322		70		21.46
†P. R. Ingram-Johnson.			2		186		45*		20.66
I. T. S. Evers			10		101		24*		20.20
A. H. Swift			1		148		56		18.50
J. H. E. Whittaker			1		253		55*		18.07
D. G. B. Saunders			0		227		52		15.13
M. L. Turner			2		103		56*		12.87
J. D. Bell			0		122		42		10.16
J. D. Dell									

Bowling	Overs	N	Iaide	ns	Runs	1	Vicke	ts	Average
I. T. S. Evers			27		546 483		29		18.82 21.00
D. G. B. Saunders P. R. Ingram-Johnson	136 143	• •	26 36	• •	358		17		21.05
D. K. Fasken	7		38		417		17		24.52

WESTMINSTER SCHOOL

Batting	Innings	No	ot ou	ts	Runs		Average	
C. C. P. Williams D. J. P. Wade D. L. Almond	. 9		3 0 0	•••	170 153 127	 75* 52 67	 28.33 17.00 12.70	

Bowling	Overs	N	Taide	ns	Runs	Wicket	S	Average
S. L. H. Clarke	92.4		17		278 329	 28		9.92 10.61
D. J. P. Wade	122.3	::	25	::	213	 19		11.21

WHITGIFT SCHOOL

Batting	gs Not	outs	Runs	Hig	hest inns.	Average
R. Subba Row 14	3		300		77*	27.27 22.66
D. A. Savers	$\frac{2}{3}$ $\frac{2}{3}$		136 138		29	12.54
R. J. Chitty	1 3		164		32*	11.71

Public School Crick	et in	1948
---------------------	-------	------

_			
Da		:	~
Bo	WI	ш	ջ

P N Lawis	Overs	N	Taide	ns	Runs		Wickets	Average
R. N. Lewis E. A. Attew.	183.2		39		420		38	 11.05
TP. J. Price	150 2		41		322 339		25 23	 12.88
R. Subba Row	60		12		153		10	 14.73 15.30
F. M. Cannon	129.2		17		377	- : :	22	 17.13

WINCHESTER COLLEGE

Batting

I P F Gay Innings Not outs Runs Highest inns.	Average
†D W B Fyans 17	42.50
(r A Variou 10 F	38.60
B P (illard 17 0 aca	24.85
J. P. Raison	21.35
M. R. Coulman 16 4 225 47	18.75

Bowling

	Overs	Maidens	Runs	Wickets	Average
D. R. Peppiatt	226.2	60	508	15	11 20
J. G. A. Varley	2172	55	560	75	11.20
	411.4	22	209	39	14.58

WORCESTER ROYAL GRAMMAR SCHOOL

Batting

		•	its	104113	1115	snest 1	mis.	Average
†N. M. Woodcock 17 G. S. Thompson 18		3		501		113		35.77
P. McGuire 16	• •	1	• •	196		35		21.00

Bowling

D. I. C. D' 1	Overs	Ma	idens	Runs	Wicket	s	Average
R. J. G. Bird	81	2	5	127	 18		7.05
G. S. Inompson	102	2	4	264			8.00
D. J. Francis	185	5	7	331	36		9.19

WORKSOP COLLEGE

Batting

W II Cit	Innings	N	ot ou	its	Runs	Hig	hest in	ns.	Average
W. H. Gibson	. 15		2		303		78*		23.30
IN. IVI. Summe	. 10				293		69		20.92
B. S. Butler	. 15		1		290		77*		20.71

Bowling

	Overs	N	Taide	ns	Runs	1	Wicker	ts	Average
J. E. Gay	156.4		37		339		25		13.56
J. C. Wright	209		45		571		26		21.96
W. J. Wall	118		14		382		16		23.87

WREKIN COLLEGE

Batting

	Innings	N	ot or	its	Runs	Hi	ghest in	ins.	Average
†J. A. Tobin	. 20		5		934		125*		62.26
J. B. Nichols	19		3		366		68		22.87
K. G. H. Cooke	20		2	F	359		75*		19.94
G. A. Sheppard	17		1		270		56*		16.87
A. N. Fenton	14		3		146		25		13.27
K. I. Bunster	15		2		152		42*		11.69
M. J. Rowe	13		2		119		44*		10.81

Bowling	Overs	N.	Taide	18	Runs	7	Vicket	s	Average
A. N. Fenton	194		12 46 11 47		312 430 515 487	::	31 32 37 32		10.06 13.43 13.91 15.21

WYCLIFFE COLLEGE

†V. Ganz• C. Joseph	Innings 12 12	Not outs 1 0	Runs 280 156	Highest inns 108*	Average 25.45 13.00
Bowling	Overs	Maidens	Runs	Wickets	Average 6.07
F. Ibbotson	. 200	13 70 25	85 406 206	14 50 19	8.12 10.84

WYGGESTON GRAMMAR SCHOOL

Batting †J. C. Rimmington D. E. Humberstone		Not outs 4	Runs 257 123	Highest inns 53* 47*	Average 42.82 15.37
Bowling	Overs	Maidens	Runs	Wickets	Average
K. B. Bones D. E. Humberstone N. Sutherland	. 115.2 . 89.2	24 19 19	248 187 304	24 17 16	10.33 11.00 19.00

SCOTTISH SCHOOL AVERAGES

EDINBURGH ACADEMY

fl. A. H. Syme J. M. Allan J. W. Galbraith	15	No	ot out	s 	Runs 495 350 168	Highest in. 87 110 35	41	erage 1.25 5.92 5.27
Bowling I. A. H. Syme W. S. Brow J. M. Allan M. Magnusson	196.2	 	aiden 92 21 56 21	s 	Runs 481 200 475 278	Wickets 51 19 40 20	1	9.43 0.52 1.87 3.90

FETTES COLLEGE

Batting	Innings	No	ot outs	Runs	Hig	hest inns.	Average
A. S. Hay	. 17		1	377		82*	23.56 20.80
A. I. H. Ferguson	. 10		0	208		54	13.28
A. L. Gunn	. 15		1	186		38	11.00
W. G. Floyd		::	0	121		29	11.00

Public	School	Cricket	in	1948
--------	--------	---------	----	------

Bowling

C. H. Black R. D. E. Hosie	Overs	Maid	ens	Runs	Wickets	Average
R. D. E. Hosie A. H. Hay	118	18		249	 17	14.64
A. H. Hav	1/7/	10		200	 17	16.47
R. M. Giles	87	15		231	 10	18.20

GLASGOW ACADEMY

Batting

C. A. B. Campbell A. C. S. Bennett †I. F. Colquhoun W. R. J. Latimer	. 10	 ot out 3 1 2	s 	Runs 195 220 168 135	Hig	50 58 54 27*	ns. 	32.50 24.44 21.00
	A LANGE	 1		133		2/*		16.87

Bowling

C. A. B. Campbell I. F. Colquhoun			 Wickets	Average 2.85
G. C. Aitken			38	6.05

LORETTO SCHOOL

Batting

A. C. Barr	Innings	No	ot our	ts	Runs	Hig	hest ir	ıns.	Average
TJ. C. Oscroft	10		2		500		83		26.31
R. B. Cowe	20		1		308		86*		18.11
I. A. G. Sutherland	16		1		278		43		14.63
J. D. M. Cunninghame	20		0		191		40		12.73
J. M. Macphail.	12		2	• •	254		60		12.70
R. Gordon	10		1		113		26*		12.55
	. 1)		1		202		42		11.22

Bowling

H. F. Neilson W. D. Marr	Overs 280		Taide:		Runs		Wicke	ts	Average
W. D. Marr	142		42	::	280	::	35		6.96 8.00
A. H. James	116 169	::	23 45		354 383		31		11.41 14.73

MERCHISTON CASTLE SCHOOL

Batting

I P Clan	Innings	N	ot or	its		Hig	hest in	ins.	Average
J. R. Glen	. 17		1		392		93		24.50
†I. G. Forman	. 21		3		439		65*		24.38
A P Taylor	. 21		2		373		66*		19.63
A. B. Taylor	. 21		2		304		57		16.00
R. A. Mitchell	. 20		4		219		35		13.68
K. S. D. Wilmshurst	. 18		2		211		74*		13.18
It. S. D. Willishuist	. 20		1		225		28		11.84

Bowling

A. B. Taylor	Overs	N	Maide	 Runs	Wicket	ts	Average
G. F. Burn	173		52 41	 466 393	 38		12.26
1. G. Smith	37		6	 126	 10		12.60
I. G. Forman	225		51	 563	 37		15.21

TRINITY COLLEGE, GLENALMOND

Batting G. C. Sharpe A. C. Denholm. G. M. Gillespie W. B. Cameron H. J. Denholm	Innings 17 17 12 15 17 16	Not out 1 0 3 0 2 1	s 	Runs 385 325 156 216 205 197	High	hest in 57* 75 51* 42 59* 52	ns.	Average 24.05 19.11 17.33 14.40 13.66 13.13
Bowling J. H. Field E. R. Paton H. J. Denholm L. C. Burnett	Overs 121.5 110 132.2 156	Maiden 24 34 32 29	 	Runs 318 259 380 403	v	Vickets 26 21 24 20		Average 12.23 12.33 15.83 20.15

GEORGE WATSON'S BOYS' COLLEGE

Batting

H. McCorquodale	Innings 19	Not	outs 0	Runs 233	hest inn 41	Average 12.26
Bowling W. M. Ross P. Everett W. S. Reynolds D. S. Macdonald	. 81.2	6	sidens 60 5 45 21	Runs 523 331 440 233	 Vickets 43 26 28 14	 Average 12.16 12.73 15.71 16.64

Five wkts. 149

PUBLIC SCHOOL MATCHES IN 1948

For Eton v. Harrow, Clifton v. Tonbridge, Rugby v. Marlborough, Cheltenham v. Haileybury, Southern Schools v. The Rest, Combined Services v. Public Schools, see Other Matches at Lord's.

DOWNSIDE v. BEAUMONT

At Downside, May 15, 16. Drawn. Downside, thanks mainly to their captain, Denvir, made a spirited recovery and came near to snatching a dramatic victory. Dillon had a match analysis of nine wickets for 78, and for Downside Daly took seven for 41 in the first Beaumont innings and Doyle six for 49 in

Downside

J. J. Doyle lbw b Dillon R. St. J. Jackson run out E. M. J. Sandison c Sheridan b Dillon R. M. J. Cassidy run out K. Wylie c Ennis b Dillon P. J. Denvir st Sheridan b Cruttenden J. P. S. England lbw b Dillon M. M. R. Hendry b Cruttenden J. A. Dearlove b Moore A. M. Zanelli run out M. F. Daly not out Extras (w 3, n-b 1)	0 — c Sheridan b Dillon 0	
	202	

Beaumont

R. Unwin c Zanelli b Daly
R. Unwin c Zanelli b Daly
P. Dingli b Dearlove 11 b Doyle 0 M. Sheridan b Daly 20
M. Sheridan b Daly 38 — b Doyle 0 B. P. Dillon b Daly 38 — b Doyle 21
B. P. Dillon b Daly P. Southwell b Daly 22 — c Dearlove b Doyle 0
P. Southwell b Daly 22 — c Dearlove b Doyle 0 J. Penney c Doyle b Daly 5 — b Doyle 0
J. Penney c Doyle b Daly 3 — b Doyle 0 E. Cruttenden b Daly 15 — lbw b Doyle 4
E. Cruttenden b Daly 13 — 16w b Doyle 4 C. Ennis b Denvir 3 — c and b Denvir 19
Extras (b 7, 1-b 1, w 5)
_ (6.5, 1.7)
130 Fight wkts 103
130 Eight wkts. 103

WINCHESTER v. CHARTERHOUSE

At Winchester, June 1. Drawn. Winchester began poorly against the accurate medium-pace bowling of S. E. A. Kimmins, but heavy rain stopped play. Winchester 42 for five v. Charterhouse.

REPTON v. UPPINGHAM

At Repton, June 2, 3. Drawn. After rain had prevented a ball being bowled on the first day, Uppingham collapsed against the spinners of W. A. S. Wesson, who took six wickets at small cost. Repton began well, but at 3 p.m. rain caused the match to be abandoned. Uppingham 95 (C. Barrow 20); Repton 25 for one wicket.

BLUNDELL'S v. TAUNTON

At Tiverton, June 5. Blundell's won by five wickets. A remarkable not out hundred by J. M. Edes gave Blundell's a clear-cut win after Taunton appeared to be in an impregnable position.

Taunton

L. K. Lewis c Maclean b Beresford 5 G. Maclennan b Hallam	K. S. Leong c Maclean b Hallam. 5 J. C. White c Hallam b Hollands. 20 P. H. Dale b Hollands
Blundell's M. J. Pike b Cummings	J. P. Hallam b Lewis

M. C. P. Tatton-Tatton, H. R. Bayly, J. M. Bedford and A. D. W. Maclean did not bat.

CHELTENHAM v. MALVERN

At Cheltenham, June 5. Cheltenham won by six wickets. On a turning pitch, Malvern broke down against the spinners of Ilsley and Slater, and, after an indifferent start by Cheltenham, a bout of hard hitting by Tucker put the issue beyond doubt.

Malvern

D. J. Hollands run out 20

A. A. Gregory c Lister b Richards J. M. Bolam b Ilsley. A. A. Dowdeswell c Strover b Ilsley G. P. R. Esdale c Procter b Ilsley J. S. V. Davy st Robinson b Slater R. H. Chadder c Robinson b Alexander Q. G. P. Nash Ibw b Ilsley	14 19 5 2	R. T. Barnie Adshead b Slater B. T. D. M. Laidlaw b Slater T. J. F. Herold not out A. B. Fletcher c Lister b Alexander Extras	5 6 1

Cheltenham

Cheffelliam	
R. T. Procter Ibw b Esdale 3 C.P. N. Swiney b Nash	D. M. Richards st Laidlaw b Esdale 21 D. J. Ilsley not out
Herold 37 B. Peskin not out 27	Five wkts. 137

J.M. Robinson, J. D. F. Alexander, D. E. L. Slater and J. A. Strover did not bat.

MARLBOROUGH v. WINCHESTER

At Marlborough, June 8. Winchester won by 69 runs. Apart from Ellwood, the Marlborough batsmen could make nothing of the bowling of Peppiatt (three for 19) and Varley (four for 17).

Winchester

Marlborough

T. G. Abell b Peppiatt 6 D. I. Aitken lbw b Varley 0 P. J. Ellwood b Peppiatt 46 D. M. Savill b Varley 0	J. A. Burnett not out
P. J. Ellwood b Peppiatt	J. M. Coates c Gay b Varley 0
A. M. B. Salmon b Varley	Extras (b 2, 1-b 3, w 1) 6
D. P. C. Beard lbw b Welsh 0 J. A. Tyzack c Evans b Welsh 4	
The state of the s	81

CLIFTON v. RUGBY

At Clifton, June 11, 12. Rugby won by 46 runs. Excellent pace bowling by Robinson, who claimed fourteen wickets for 44 runs, enabled Rugby to win a low-scoring game.

Rugby

W. R. Mason c and b Rees 20 — c Rankine b Rees 21 D. R. Wright c and b Dickinson 14 — c Turner b Penny 31 M. T. Wilford run out 5 — lbw b Penny 8 I. R. Eiloart c Rees b Penny 21 — hit wkt b Penny 0 J. J. Gardner b Rees 0 — lbw b Dickinson 1
P. A. R. Greenstreet b Penny 0 — b Dickinson 1 A. McL. Macdonald lbw b Penny 8 — b Dickinson 20 R. N. Dick Read b Penny 0 — b Dickinson 2 O. R. S. Bull b Penny 23 — lbw b Penny 4 J. E. Robinson hit wkt b Penny 4 — run out 4 C. G. Hyde not out 0 — not out 0
Extras

Clifton

R. K. Green b Robinson R. J. Taylor b Bull	1 — c Mason b Robinson 8
D. B. Bird lbw b Robinson	1 — c and b Wright
T. S. Penny b Robinson	33 — c Macdonald b Hyde 19
D. C. Dickinson c Hyde b Robinson	14 — b Robinson
M. J. Leek b Robinson W. P. E. Lake run out	0 — c Wright b Robinson
J. D. C. Rees c Mason b Robinson	0 — b Bull 0
R. P. Rankine lbw b Robinson	0 — not out
J. A. F. M. Moore not out Extras	6 Extras 7
	90

TONBRIDGE v. BEDFORD

At Tonbridge, June 11, 12. Bedford won by 201 runs. Superior in all departments, Bedford experienced little difficulty in defeating a weak batting side. Spooner bowled well to take four for 21 in the Tonbridge second innings. Payne conceded only one bye throughout the match.

Redford

power and a second a second and	
I.A. Spooner Ibw b Cowdrey	8 — c sub b Wood-Smith 17
A.N. Jordan b Ginger	28 — b Wood-Smith 1
B.E. Disbury c Eckersley b Cowdrey	3 — st Brooke b Cowdrey 55
A.D. R. Dawes b Hancock	23 — c and b Cowdrey 31
G.D. Moulton c Cowdrey b Taylor	1 — b Cowdrey 40
I.W. Fry lbw b Wood-Smith	15 — b Cowdrey 25
	35 — Ibw b Wood-Smith 7
F. A. Pinguet c Hancock b Taylor	30 — st Brooke b Cowdrey 0
J.G. Jones c Herman b Cowdrey	0 — b Wood-Smith 1
R.L. Keech c Ginger b Hancock	5 — c Wood-Smith b Cowdrey 22
P. A. Mounfield not out	0 — lbw b Ginger 2
Extras	4 Extras 12
	52 213

Tonbridge

R.E. Herman b Fry	0 — c Jordan b Fry	0
M. C. Cowdrey c Jordan b Fry	6 — c Payne b Disbury	11
P.H. Wood-Smith c Keech b Jones	1 — c Fry b Spooner	
J.H. Eckersley b Mounfield	18 — b Fry	2
P. Finzi c Payne b Spooner	16 — c Disbury b Mounfield	5
D. J. Lewis c Dawes b Spooner	11 — b Spooner	8
R.T. Hancock b Disbury	8 — st Payne b Spooner	5
N.C. Evans c Pinguet b Fry	15 — b Spooner	0
C. Taylor b Disbury		1
M. R. Ginger b Disbury		0
C.R. E. Brooke not out		0
Extras		7
		-
	97	67

UPPINGHAM v. HAILEYBURY AND I.S.C.

At Uppingham, June 11, 12. Uppingham won by six wickets. Two patient imings by Browne were not sufficient to prevent Uppingham from gaining a comfortable victory, of which Hall (three for 13 and four for 29) was the chief architect.

Haileybury and I.S.C.

The state of the s		
S. S. M. Monteath c Scotcher b Barrow	16 — b Hall	0
F.M. Craven b Hall	1 — run out	5
J.C. B. Letts c Dennis b Barrow	13 — run out	0
A.R. P. Wrathall c Barker b Dennis		
V.F. Browne c Hall b Dennis	34 — not out	
J.H. V. Dicks lbw b Hall	4 — c Barrow b Hall	
M. E. Dark Ibw b Hall	2 — lbw b Barrow	
A Featherby c Barker b Dennis	2 — c Scotcher b Barrow	
P.R. L. Jackson not out	0 — b Hall	
A.R. Warner c Scotcher b Dennis	0 — c O'Hagan b Barker	
I. Geffers b Dennis	3 — b Barker	
Extras	9 Extras	4
	105	87

Uppingham

I. R. Corners b Letts	23	- c Browne b Jackson	,
C. J. B. Leader b Letts	. 11	- c warner o Browne	12
C. R. Philcox c Warner b Letts	10	— not out 2	21
R. H. Schlesinger b Wrathall	10	— not out	3
C. M. Dennis b Letts	6		
D. D. C. Sootshan not and	3		
P. B. G. Scotcher not out	10		
C. Barrow lbw b Letts	0		
C. A. M. O'Hagan b Letts	, 1		
Extras	6	Extras	1
	_		1
	111	Four wkts 8	-
	TTT	FOUR WEIS X	. 1

MARLBOROUGH v. ETON

At Marlborough, June 12. Marlborough won by 44 runs. In adding 75 runs for the fourth Marlborough wicket, Abell and Salmon fully exposed the limitations of the Eton attack, in which only Rankin (six for 42) looked dangerous. Apart from a gallant effort by Lutyens, Eton had no counter to Tyzack (five for 25) and Barnes.

Marlborough

T. G. Abell c Bailey b Rankin	R. A. Barnes not out 4 J. A. Tyzack b Rankin 4 J. A. Burnett st Hambro b Rankin 0 Extras (b 11, 1-b, 6, p-b, 4) 21
-------------------------------	--

Eton

ST. PETER'S, YORK v. AMPLEFORTH

At York, June 12. St. Peter's won by 12 runs. A fine spell of bowling by Walter, who took seven wickets for 13 runs in 13 overs, brought St. Peter's victory after collapsing against the spinners of Tate.

St. Peter's

D. Walter not out

Ampleforth

n I Sheahan c Mortimer b Walter 2	M. Tate c Speight b Dryden C. N. Ryan b Dryden P. A. Mitchell b Walter F. M. Fisher not out	0
TO XX 1 the Welton		
F. C. Wadsworth b Walter 0		66
I G Faher lbw b Walter 1		00

CHELTENHAM v. REPTON

At Cheltenham, June 15. Cheltenham won by seven wickets. Thanks to a splendid fighting innings by Palfreyman, Repton recovered after losing four men for 16 runs. Lister and Procter scored freely and the runs were obtained with only a minute to spare.

Renton

A. R. Lawson did not bat.

Cheltenham

Cherteria			00
J. Lister c Lewis b Wesson	54	B. Peskin not out	
R. T. Procter b Bailey	47	Extras	0
C. P. B. Swiney b Guthrie		Three wkts. 1	67
J. F. Tucker not out	26	Tillee wats. 1	01

D. M. Richards, D. J. Ilsley, J. M. Robinson, J. D. F. Alexander, J. A. Strover and D. E. L. Slater did not bat.

WINCHESTER v. HARROW

At Winchester, June 15. Drawn. After attractive batting by I. P. E. Gay and B. P. Guard, Winchester's declaration left Harrow little time in which to obtain the necessary runs. A. S. Day forced the pace but found no partner to stay with him.

Winchester

I. P. E. Gay c Hoyer-Millar b	M. R. Coulman b Falcon 3
Marlar 74	T. L. Wright b Jacques 24 J. G. A. Varley c Jacques b Marlar 11
E. N. C. Oliver b Jacques 0 J. P. Raison b Jacques 0	J. A. Fawcett not out 0
B. P. Guard st Hoyer-Millar b	Extras 4
Richardson	
b Parkes	Eight wkts., dec. 172

D. R. Peppiatt and P. M. Welsh did not bat.

Harrow

J. G. C. Jackson c Coulman b Peppiatt	T. A. M. Pigott b Raison 2 A. Falcon c Evans b Welsh 0 R. G. Marlar not out 4 Extras 9
W. J. M. Greener b Fawcett 7	Seven wkts. 129

R. A. Jacques, R. E. C. Parkes and F. G. Richardson did not bat.

MERCHANT TAYLORS' v. ST. PAUL'S

At Sandy Lodge, June 16. Merchant Taylor's won by four wickets. Only Barter and Jay looked comfortable against Barclay, who took six wickets for 46, and Merchant Taylors', given a good start by Lee, won easily.

St. Paul's

C. J. Godfrey b Barclay. 0 W. B. Atkinson c Weston b Barclay 9 A. B. Barter b Sims 23 A. R. Jay c Ingram b Widmer 48 C. E. S. Gold b Sims 5 J. R. Peppitt c and b Widmer 0 P. F. Cook lbw b Barclay 6

Merchant Taylors'

F. I. Lee b Mills	A. M. Joyce b Barter 17 R. M. Barclay not out 2 Extras 4
J. G. Banwell not out	Six white 128

J.A. Prodger, P. H. Sims and A. Widmer did not bat.

BRIGHTON v. LANCING

At Brighton, June 19. Lancing won by 2 runs. Naylor and Jenkins added 110 for the fourth Lancing wicket, but, after fine batting by Miller, Brighton seemed assured of victory when Farrar and Law scored freely. Farrar left at 175, but the score mounted gradually until Titcomb was given out with only three runs required.

Lancing

D. A. Swales b Kemp	M. J. Dolbear b Farrar
Brighton	

Brighton	
D. G. Owen Ibw b Alexander 5 J. D. Gardiner c Williams b Alexander 1 R. H. P. Miller c and b Bushe 62	L. C. Cole c Alexander b Robinson 7 G. C. Smith c Gill b Robinson 1 C. W. Law not out 21 S. J. Titcomb lbw b Robinson 4
P. Kemp c Jenkins b Bushe 16	Extras
J. A. Ince st Jenkins b Bushe 11	
A. H. Farrar run out 39	
I. J. Glassborow b Robinson 9	190

WREKIN v. WORKSOP

At Wrekin, June 25, 26. Drawn. Despite a magnificent display by Tobin on the first day. Wrekin failed inexplicably on the second, and were struggling to avoid defeat when stumps were drawn. Gay, who took five wickets for 15, and Wright, four for 26, bowled unchanged during the second Wrekin innings. In the follow-on Sumrie showed the best Workson batting.

Wrekin

J. A. Tobin not out	— b Wright 2
V G H Cooke c Tidmarsh b Wall 3	— c and b day
I P Nichole h Gay	— b Wright 2
N Fanton lbw h Wright 22	— c Neary b Wright 4
G. A. Sheppard c Gay b Sumrie 54	— c Neary b Wright 15
	- b Gay 0
K. I. Builster C reary & Builtie	— c Bradley b Gay 5
M. J. Rowe Hot out	— c Tidmarsh b Gay 2
R. F. Davies (did not bat)	— b Gay 0
I.F. B. Young (did not bat)	— not out 2
J. M. Mossop (did not bat)	— not out 0
R. K. Bryson (did not bat)	
Extras 10	Extras $\frac{1}{2}$
	Nine white 42

Five wkts., dec. 267

•			
			40
	Nine	wkts.	42

Worksop

ETON v. WINCHESTER

At Eton, June 25, 26. Winchester won by nine wickets. Clearly the stronger bowling side, Winchester gained a comfortable victory, their first in this fixture for twenty-eight years. Winning the toss, Eton lost three quick wickets before Lomax and Impey came together, and runs were scored freely in a lively seventhwicket partnership between Sainsbury and Hambro. Gay and Raison opened cautiously for Winchester but soon mastered the attack, and Coulman, Guard and Evans gave splendid support. Declaring 80 runs ahead, Winchester struck an immediate blow when Peppiatt bowled Lutyens, and, despite gallant innings by Barnes and Impey, Eton collapsed against accurate swing bowling and keen fielding. Requiring 67 for victory, Winchester quickly lost Raison, but Gay and Coulman again batted confidently and the runs were obtained without further loss.

Eton

A. L. Lutyens c Wright b Peppiatt J. D. K. Barnes c and b Fawcett. I. R. Lomax c and b Welsh T. Hare b Welsh C. A. Impey c Raison b Welsh J. A. Bailey b Varley S. D. Sainsbury b Fawcett C. E. A. Hambro not out J. M. Rankin c Guard b Varley J. S. Guthrie c Fawcett b Varley A. S. Aird c Evans b Welsh Extras.	. 19 — run out
	239

Winchester

00
. 89 — not out
26 — b Aird
34
72
47 — not out
. 0
2
27
. 0
. 0
. 21 Extras
. 21 DATES
319 One wkt. 68

P. M. Welsh did not bat.

Winchester Bowling

	0.	M.	R.	W.	0.	M.	R.	W
Peppiatt	24	1	60	1	20	6	49	5
Varley	28	10	46	3	9.2	3	18	2
Fawcett	14	3	45	2	2	0	8	0
Welsh	20.3	1	78	4	14	4	58	0
Raison	4	0	8	0	6	3	5	1

Eton Bowling

Aird	29	4 8 3	51 79	3 2 2	 7.2	3 2	14 22	1 0 0
Bailey Guthrie Sainsbury	15 19 4	3 6 1	48 74 31	0 1 1	 7	2	18	0

REPTON v. RUGBY

At Repton, June 29. Repton won by seven wickets. Lewis, after taking three wickets, and Palfreyman won the match with an unbroken three-figure partnership. Rugby 127 (I. R. Eiloart 56); Repton 138 for three wickets (A. C. W. Lewis 46 not out, R. W. Palfreyman 56 not out).

UPPINGHAM v. OUNDLE

At Uppingham, July 1. Uppingham won by 100 runs. Put in by Oundle, Uppingham batted to such good effect that Hall was able to declare before tea. After a stubborn partnership between Coleman-Smith and C. J. Swan there was little resistance to Hall, who took six for 27.

Inningham

W. J. Corner c Lowe b Beaumont 28 R. G. Nicholson b Bell	C. R. Philcox not out
I.M. Barker lbw b Brooks 40 C.J. B. Leader b Beaumont 57	Seven wkts., dec. 191

P.B. G. Scotcher, C. M. Dennis and C. A. M. O'Hagan did not bat.

Oundle

A.J. Waring b Dennis	0 0
1	
M. P. Brooks 1bw b Dennis 1	91
I.P. Ashworth b Dennis 3	-

CHELTENHAM v. CLIFTON

At Cheltenham, July 2, 3. Clifton won by ten wickets. The all-round success of Dickinson and the well-flighted off-breaks of Penny brought Clifton their convincing victory. For Cheltenham, Slater bowled well and Procter batted resolutely in the second innings.

Cheltenham

Chellelilaill	
Llister c Green b Dickinson	14 — c Penny b Lake
R.T. Procter b Penny	21 — Ibw b Penny 72
C.P. N. Swiney b Penny	8 — c Bird b Rees 37
	0 — c Rankine b Dickinson 0
J.F. Tucker c and b Penny	0 — lbw b Dickinson 0
B. Peskin b Dickinson	23 — c Dickinson b Rees 4
D.M. Richards lbw b Dickinson	2 — lbw b Penny 12
J.A. Strover b Penny	2 - 10w 0 1 cmily
D. J. Ilsley b Dickinson	1 — Croyle oreming
J.D. F. Alexander c Penny b Dickinson	0 — b Dickinson
J.M. Robinson lbw b Penny	9 - IUW U DICKINSON
D.E. L. Slater not out	0 — not out
Extras	6 Extras 5
LAHas	
MICL	84 157
Clifton	bentair winders at it of anything
D. B. Bird Ibw b Alexander	0 — not out $\frac{1}{2}$
M. B. Foyle b Slater	7 — not out 2
R.K. Green Ibw b Alexander	13
R.V. Turner c Peskin b Alexander	35
T.S. Penny b Slater	
D.C. Dickinson b Slater	
A. Cooper c Swiney b Slater	
R.J. Taylor b Slater	
J.D. C. Rees c Slater b Alexander	
R.P. Rankine not out	
W.P. E. Lake c Lister b Richards	
Extras	30 Extras 4
	235 No WKI. 7

Public School Cricket in 1948

HAILEYBURY AND I.S.C. v. WELLINGTON

At Haileybury, July 2, 3. Wellington won by 94 runs. Wellington made a useful start, and, despite a fine innings by Dicks, Haileybury could do little against Evers, who had a match analysis of nine for 68. For Haileybury, Letts took eleven wickets for 164.

Wellington

P. M. James b Browne	. 8 — b Browne
R. O'Brien run out	. 10 — Ibw b Letts
R. H. Chappell lbw b Letts	. 17 — b Browne
J. H. E. Whittaker c Memory b Letts	. 40 — b Letts
A. H. Swift c Dicks b Letts	. 56 — b Fox
M. D. Allom c Dicks b Letts	. 4 — c Nicholas b Letts. 4
J. D. Bell c and b Letts	. 9 — b Letts 42
D. G. B. Saunders c Browne b Letts	. 10 — b Monteath
M. L. Turner c Letts b Browne	. 2 — c Letts b Monteath 1
I. T. S. Evers c Browne b Letts	. 0 — not out
D. K. Fasken not out	. 0 — not out 4
Extras	. 6 Extras
	. 0
	162 Nine wkts., dec. 232

Haileybury and I.S.C.

S. S. M. Monteath c and b Evers 20 b Saunders 8 A. D. G. Nicholas c Chappell b Turner 18 c and b Turner 15 M. E. Dark c Turner b Evers 22 lbw b Evers 22 A. R. P. Wrathall st Whittaker b Turner 13 c Bell b Turner 5 V. F. Browne lbw b Evers 7 b Saunders 26 J. H. V. Dicks c Evers b Fasken 10 not out 62 J. C. B, Letts b Allom 2 c Bell b Saunders 4 W. B. Memory lbw b Allom 10 c Bell b Saunders 4 A. Fox c O'Brien b Evers 0 c Turner b Evers 18 P. R. L. Jackson b Evers 3 lbw b Evers 4 A. R. Warren not out 0 hit wkt b Evers 2 Extras 21
109

BEDFORD v. STOWE

Ar Bedford, July 3. Stowe won by five wickets. A patient innings by the Bedford captain, B. E. Disbury, helped his side to a moderate total, but D. E. Conington was seldom in difficulties against an innocuous attack.

Bedford

J. A. Spooner b Short 0 W. K. Pool b Cobham 3 B. E. Disbury b Dixon 30 A. D. Dawes c Short b Cobham 0 G. D. Moulton b Cobham 7 R. D. Payne c and b Connell 12 J. W. Fry c McNeil b Short 26	A. N. Jordan c D. Conington b Short
F. A. Pinguet c D. Conington	110
b Short 0	110

Stowe C.H. Bradly st Payne b Fry G.J. E. Dixon Ibw b Spooner D. A. Connell c Jordan b Mounfield	0	O. B. Sayer b Disbury
D.E. Conington not out J.F. Conington c and b Fry	7	Five wkts. 111

R.J. Roberts, C. C. McNeil, W. R. G. Short and M. D. Cobham did not bat.

SHERBORNE v. MARLBOROUGH

At Sherborne, July 3. Sherborne won by three wickets. Marlborough batsmen, with the exception of Aitken, fared badly against Jowett, and, after losing three wickets for 25 runs, Sherborne recovered to win comfortably.

t out
J

R.G. Chavasse and D. C. P. R. Jowett did not bat.

HARROW v. CHARTERHOUSE

At Harrow. Harrow won by eight wickets. The magnificent batting of Day gave Harrow a dominant position on the first day, and, despite determined innings by May, Baker and Kamm, Charterhouse never looked happy against Jacques, whose in-swingers brought him nine wickets for 79 runs.

Harrow T. A. Pigott c Kimmins b Scholfield	37 — b Kimmins
A. A. Fersse Ibw b Scholland R. G. Marlar Ibw b Divett A. Falcon Ibw b Goodliffe R. A. Jacques not out Extras Eight wkts., dec. 2	11 0 13 Extras

R.E.C. Parkes and F.G. Richardson did not bat.

Charterhouse

R. M. Packham c Persse b Jacques 4 — b Jacques 2 M. S. Scholfield b Marlar 2 — b Jacques 0 J. W. H. May c Parkes b Richardson 43 — c Colthurst b Falcon 13 M. H. N. Raven b Jacques 0 — b Persse 0 S. E. A. Kimmins Ibw b Jacques 11 — b Jacques 17 D. H. G. Goodliffe Ibw b Marlar 4 — Ibw b Marlar 11 J. M. Baker st Hoyer-Millar b Richardson 39 — c Parkes b Richardson 20 A. Kamm c Hoyer-Millar b Richardson 15 — c Hoyer-Millar b Jacques 56 J. K. Divett not out 4 — c Persse b Jacques 4 B. D. Gough st Hoyer-Millar b Marlar 9 — b Marlar 11 R. L. Jones b Marlar 0 — not out 0
Extras
141 136

FETTES v. LORETTO

At Fettes, July 9, 10. Loretto won by an innings and 8 runs. A forcing innings by R. B. Cowe placed Loretto in a sound position before Fettes collapsed against the fast-medium bowling of H. F. Neilson (seven for 25). Despite a dour display by A. T. H. Ferguson, Neilson and W. D. Marr (six for 30) were again too good for Fettes and gave Loretto victory on the second day.

Loretto

J. C. Oscroft lbw b Hosie 0	J. M. Macphail c Ferguson b Hay 19
A. C. Barr b Hosie	H. F. Neilson c Hosie b Black 8
R. Gordon b Black 4	W. D. Marr run out 26
J. D. M. Cunninghame c Giles	A. H. James not out 6
b Hosie 24	Extras (b 6, 1-b 6, n-b 2) 14
I. A. G. Sutherland lbw b Giles 17	
K. M. Spence c Giles b Hosie 4	
R. B. Cowe c Cameron b Giles 43	182

Fettes

A. L. Gunn c Barr b Neilson	15 — b Marr 7
W. R. L. Brown c Sutherland b Marr	4 — 1bw b Marr 0
A. S. Hay c Cowe b Marr	14 — c Cowe b Marr 0
W. G. Floyd lbw b Marr	
D. A. Cameron b Neilson	
A. T. H. Ferguson c Spence b Neilson	10 — c Oscroft b Spence 54
C. H. Black c Gordon b Neilson	7 — c Barr b Marr 7
A. M. Cunninghame c Oscroft b Neilson	1 — c Oscroft b Marr 6
R. M. Giles b Neilson	2 — not out 8
C. G. A. L. Potts c Gordon b Neilson	0 — c Spence b Neilson 8
R. D. E. Hosie not out	4 — b Marr 0
Extras (b 3)	3 Extras (b 6, 1-b 2, n-b 1) 9
2	
	71 103

BRADFIELD v. WELLINGTON

At Bradfield, July 10. Wellington won by one wicket. Accurate bowling by Fasken placed Wellington in a favourable position, but DuBuisson and Joynt nearly saved the game for Bradfield.

			_		
R	ra	d	ti	el	(

D.J. Ronaldson c James b Evers. H. W. Joynt b Fasken. D. Cooper b Fasken. A. P. C. Parkinson run out J. V. DuBuisson b Fasken. M. E. Taylor lbw b Saunders. M. R. St. J. Rich st Whittaker b Fasken.	11 0 7 10 16	J. G. A. Clezy b Fasken 0 C. J. Lee c Swift b Turner 1 D. J. Burton not out 37 J. S. Garfield b Saunders 0 Extras 10

Wellington

P.M. James b Burton	D. G. B. Saunders c Taylor b Joynt M. L. Turner b Parkinson	0 1 10 —
---------------------	---	-------------------

MILL HILL v. ST. PAUL'S

At Mill Hill, July 10. Mill Hill won by four wickets. St. Paul's could do little against a well-varied attack, and, after two wickets fell cheaply, Fenn and Meggitt laid the foundations of Mill Hill's victory in a third partnership o over fifty runs.

St. Paul's

C.I. Godfrey b Ramsay 9 J.J. Mills b Ramsay 3 A.B. Barter b Samuels 46 A.R. Jay c and b Samuels 14 W. B. Atkinson c Williams b 17	R. O. C. Norman c Meggitt b Case 9 D. W. Jacobensen b Case 15 J. Faull c and b Case 12 D. A. S. Blacklaw not out 0 Extras 3
Samuels	129

Mill Hill

WILL LITTLE	J. E. Williams not out	2
J.E. C. Dicks run out	Extras	9
M. W. Fenn run out	Four wkts	132
F.W. Brenchley not out 21	1 our witter	

D.A. Scott, D. H. V. Case, A. W. Ramsay, S. R. Samuels and A. S. MacLennan did not bat.

UPPINGHAM v. RUGBY

At Uppingham, July 10. Uppingham won by five wickets. Despite a sound display by Mason, Rugby found difficulty in mastering a varied attack, and Barker, who hit twenty in one over from MacDonald, and Corness saw Uppingham through an awkward period.

Rugby	
W. R. Mason b Hall	O. R. S. Bull st Scotcher b Barker 0 J. E. Robinson b Barker 0 C. G. Hyde not out 3 Extras 12
Uppingham	
W. J. Corner c Mason b MacDonald 7 R. G. Nicholson run out	C. R. Philcox not out. 0 Extra 1
R. H. Schlesinger, P. B. G. Scotcher, C.	Five wkts. 107
not hat	W. Dennis and C. A. M. O'Hagan did

